Air Cylinder

Series CG1

020, 925, 932, 040, 950, 863, 080, 6100

Variations CJ1
Series Action Rod Cushion| | goqi Variation Bi[ﬁ,ﬁi)ze Page [ —
aSIC | (Wit One-touch] | With rod Air- Clean
fiting boot hydro series | |Copper free CJP
| L
; Rubber ‘ ‘ ‘
Standard/Series CG1 Single rod o H 172 CJ2
- Double Air | ——
. , to
L - acting Rubbor] ® 100 CM2
LY Double rod —1.7-14 ——
Air | C85
Standard/Series CG1 C76
4 . Single rod 20
‘ - acting (Spring retur/ Rubber @ to  1.7-20
. Spring extend) 40
i MB
MB1
Non-rotating rod Series CG1K Rubber | 00 63} 7CP95
y Double Single rod 1.7-26
d fing Air [ ‘40 to GSF K
A ac
s I — ==
B Double rod‘ lRubber[ 20to 63 092
Direct mount Seri 1R
ect mount Series CG Rubber ® ® ® o CA1
- Double .
- o acting Single rod to 1.7-35 CS'I
g Air @ @ 6
Direct mount/Non-rotating rod
Series CG1KR ; Double | 20
- . acting Single rod Rubber ——@ to [1.7-40
Py 63
Low friction Series CG10Q
No cushion 20
Double , (220 10 063)
< acting Single rod Rubber ® to  [=1.7-43
s ' (80, @100) 100
Ll 'Qim
Applicable auto switch Made to Order
Auto switch model Band mounting
Reed D-C7/8, D-C73C/C80C Refer to p.5.4-1
switch D-B5/B6, D-B59W for made to order
Solid state D-H70J, D-H700W, D-H7CF products of series CG1
. D-H7BAL, D-H7C, D-G5/K5
switch D-G500W/K59W, D-G59F, D-G5SNTL

1-7-1



Standard: Double Acting Single Rod

eries CG1

020, 025, 032, 940, 050, 663, 980, 6100

How to Order

oot [CIN]EBET®

I N e

[T coai [L][N][2s{100] H{B53

| * Number of auto switches
With auto switch = 2
(magnet) S 1
Mounting ® n n
B | Basic l
L | Axial foot Rod boot (at one side) Auto switch
F_| Frontflange — | Without rod boot Without auto switch
G | Rear flange J Nylon tarpaulin B (Built-in magnet)
U+ | Front trunnion K Heat resistant tarpaulin * Refer to the table below for
T Rear_ trunnion * Foot brackets and front flanges are fitted selecting applicable auto
D | Clevis when rod boots are mounted. switches.
* Not available for bore
sizes 980 and ©100.
++ Mounting brackets are
included, not mounted. ¢ Bore size
Cushion ¢ 20 | 20mm 50 | 50mm Cylinder stroke (mm)
N | Rubber bumper 25| 25mm 63| 63mm Refer to p.1.7-3 for Standard Stroke Table.
A Air cushion 32 32mm 80 80mm
40| 40mm 100 100mm
Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
5 Load voltage Auto switch model Lead wire (m)*
; .o |Electrical| §| Wiring : : Applicable
Style | Special function ety |2 (Output) e e Applicable bore size 05 | 3| 5 |None load
£ 20 to 863 | 220to 2100 | () [ (L) [(2)|(N)
3 wire
(NPN) 5V — C76 — ® & —|—| IC|—
Yes — — B53 o |e/e | —[rc
< Grommet|__| 12V | ooov — B54 o0 0 —
£ No or less — B64 o0 — —
n Yes . 12v 100V C73 — o0 0 —
° —  2wire |24V Relay
o No 5V, 12V[100Vorless) €80 — ® ® —|—|IC |p¢
& comeno"® v | — c73C — o ooe —
omeC N 5V, 12V[24V orless|  C80C — OOORE
Diagnostic indication (2 color) | Grommet |Yes - — — B59W ® o — | —| —
3 wire (NPN) H7A1 G59 ® 0 O|—
- 5V, 12V IC
Grommet| |3 wire (PNP) H7A2 G5P ® |0 O —
H7B K59 ® O O —
2 wire 12v —
::g Connector H7C — [ N AN BN J
5 - —
o | Diagnostic indication 3wire (NP 5V, 12v H7NW GSOW e e 0 IC
2 g Ves|3 wire (PNP)| 54y — H7PW G5PW ® 0 O — Relay
= (2 color) PLC
0 ) H7BW K59W ® O O —
kel 2 wire 12V —
5 | Water resistant (2 color) | Grommet H7BA G5BA — | @|O|—
& With timer 3 wire (NPN) — G5NT | — (@O —
5V, 12V IC
Diagnostic output (2 color) 4 wire H7NF G59F ® O|—
Latch wnh(g\sglr;tr))snc output (N PN) - H7LF _ Y | O|—| —
« Lead wire length 0.5m-----— e.g.) C73C  5m-eveeeee z e.g.) C73Cz
3m C73CL None-----N C73CN

+ Solid state switches marked with "O" are manufactured upon receipt of order.

1-7-2

O
2



Substantially shorter length:

020 to 940: -15 to —-30mm
(in comparison with CM2 Series)
240 to 963: —17 to —28mm

(in comparison with CA1 Series)
280 to 6100: -9 to —33mm
(in comparison with CA1 Series)

High speed operation: 1000mm/s
(280 and 0100 operate at 700mm/s)

Provided with an air cushion as
standard

Two cushions are available:
an air cushion or rubber bumper

Weight reduction of 10 to 50%

(50mm stroke, in-house comparison)

Highly accurate mounting
brackets
(Axial foot, front flange)

Standard stroke

JIS symbol
Double acting

Made to Order

Refer to p.5.4-1 for made to order products
of series CG1.

Mounting Bracket

Refer to p.1.7-4 for part numbers for the
mounting brackets.

Auto Switch Mounting Band

Refer to p.1.7-4 for part numbers for the
mounting bands.

Standard: Double Acting Single Rod Series CG1

Specifications

Bore size (mm)

20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

Action Double acting/Single rod
Lubrication Non-lube

Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.05MPa

o

\ “ '-‘ Accessories

Without auto switch: =10 to +70°C (No freezing)

Ambient and fluid temperature

With auto switch: —10 to +60°C (No freezing)

Piston speed

50 to 1000mm/s

50 to 700mm/s

Stroke tolerance

Up to 1000 **mm, Up to 1200*; mm

+1.8

Up to 1000*}*mm

Up to 1500° 52 mm

Thread tolerance

JIS class 2

Cushion Rubber bumper/Air cushion
Basic, Axial foot, Front flange, Rear flange, Front trunnion,
Mounting* Rear trunnion, Clevis

(Used for changing the port location by 90° degrees.)

Q Front/Rear trunnion styles are not available for bore sizes 80 and 100.

Mounti . Axial Front Rear Front Rear )
ounting Baslc foot | flange | flange | trunnion | trunnion | Clevis

Rod end nut ) o @ [ J [ J (] [ J

Standard —
Clevis pin — — — — — — (
Single knuckle joint| @ (] [ o () o (]
Double knuckle
~ |joint** o o [ J [ J o [ o
Option [(With pins)
Pivot bracket | — — — — [ & o ()
Rod boot o (] o ([ J (] o (]

+ Pivot bracket is not available for bore sizes 80 and 2100.

++ Pins and snap rings for double knuckle joint are included, not mounted.

Stroke Minimum Strokes for Auto Switch Mounting
: Long | Max Number of switches
Bore size| Standard stroke () | 401 67(2) stroke Auto switch model
(mm) (mm) (mm) | (mm) 2 1
20 | 25,50, 75,100, 125, 150,200 {201 to 350 D-C7/C8
D-B5/B6
25 301 to 400 D-H7 15mm 10mm
32 301 to 450 D-G5/K5
40 | 25,50, 75,100, 125, {301 to 800| 1500 D-B59W 20mm 15mm
50/63 | 1°0: 200,250,300 f304 15 1209 D-H7LF 20mm 10mm
80 301 to 1400
100 301 to 1500
Note 1) Other intermediate strokes can be
manufactured upon receipt of order.
Spacers are not used for the
intermediate strokes. Refer to
p.1.7-8 to 1.7-10 for dimensions.
Note 2) Long stroke applies to the axial foot
and the front flange style. If other
mounting brackets are used or the
length exceeds the stroke limit,
the stroke should be determined
based on the stroke selection table
in the technical data.
Rod Boot Materials
Symbol Material Max. operating temp
J Nylon tarpaulin 70°C
K Heat resistant tarpaulin 110°C*
+ Maximum ambient temperature for the rod boot only.
1-7-3

O
Z

e




Series CG1

Mounting Bracket Part No.

Mounting Procedures

. Bore size (mm)

Mounting bracket

20 25 32 40 50 63 80 100
Axial foot* CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100
Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100
Trunnion CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 — —
Clevis™* CG-D020 | CG-D025 | CG-D032 | CG-D040 | CG-D050 | CG-D063 | CG-D080 | CG-D100
Pivot bracket ~ |CG-020-24A | CG-025-24A| CG-032-24A| CG-040-24A | CG-050-24A | CG-063-24A| CG-080-24A | CG-100-24A

+ Order two foot brackets per a cylinder.

«x Clevis pins, snap rings and mounting bolts are attached for the clevis.

=%+ Mounting bolts are attached for the foot type

and the flange type.

Auto Switch Mounting Bracket Part No.

Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100
D-C7/C8
D-H7 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063 — —
D-B5/B6
BA-01 | BA-02 | BA-32 | BA-04 | BA-05 | BA-06 | BA-08 | BA-10
D-G5/K5
+ A set of following stainless steel mounting screws is attached.
(A switch mounting band is not attached. Please order the band separately.)
BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
- "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.
When a switch only is shipped, “BBA3” or "BBA4" screws are attached.
Weight (kg)
Bore size (mm) 20 25 32 40 50 63 80 100
- Basic 0.10 0.17 0.26 0.41 0.77 1.07 2.04 3.17
<
-% Axial foot 0.21 0.30 0.42 0.63 1.25 1.79 3.00 4.92
=
o Flange 0.18 0.27 0.40 0.61 1.11 1.57 2.75 452
(7]
5 Trunnion 0.11 0.19 0.29 0.46 0.91 1.21 — —
Clevis 0.15 0.25 0.41 0.64 117 1.75 2.75 445
Pivot bracket 0.08 | 0.09 | 0.17 | 025 | 0.44 | 0.80 | 0.98 1.75
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 0.39 0.57
Double knuckle joint (with pins) | 0.05 0.09 0.09 0.13 0.26 0.26 0.64 1.31
Additional weight by each 50 stroke | 0.05 0.07 0.09 0.15 0.22 0.26 0.35 0.49
Additional weight by air cushion | 0.01 0.01 0.02 0.02 0.03 0.03 0.03 0.03
Additional weight by long stroke | 0.01 0.01 0.02 0.03 0.06 0.10 0.19 0.26

Calculation example: CG1LA20-100
(Foot, 20, 100 stroke)

1-7-4

« Basic weight------
« Additional weight
« Cylinder stroke

0.21 (Foot, 220)
0.05/50 stroke
100 stroke

Trunnion
Follow the procedures below when mounting a
pivot bracket on the trunnion.

220 to 263
| Cylinderbody ~ Trunnion bolt
_ (with scotch grip)
%,H ” 4or5times
‘ ! ! Flat was hr(eerrnountlng possible
{ L’—| ’J i Trunnion pin
| (Put grease on the exterior.)
Pivot bracket
Clevis

Follow the procedures below when mounting a
pivot bracket on the clevis.

020 to 063

Snap -
ring  Clevis pin

Cylinder body ~ Snap ring
<ﬂf /(Put grease) B

a80 0100

nng Clevis pin

?(Put grease)

yllnder body
Shap rlng

Pivot bracket

« Additional weight by air cushion---0.01kg
0.21+0.05 X 100/50+0.014=0.32kg

O
2



Standard: Double Acting Single Rod Series CG1

Built-in One-touch Fitting

Air-hydro

CG1| Mounting ‘N’ Bore size ‘ F —{ Stroke ‘

Built-in One-touch fitting

A style in which One-touch fittings are built into the cylinder. It dramatically
reduces the piping labour and installation space.

Specifications

CG1| Mounting ‘ H ’ Bore size H Stroke ‘

Air-hydro

A low hydraulic pressure cylinder used at a pressure of 1.0MPa or below.
Through the concurrent use of a CC series air-hydro unit, it is possible to
operate at a constant or low speed or to effect an intermediate stop, just
like a hydraulic unit, while using pneumatic equipment such as a valve.

CJ1

Bor.e size (mm) 020, 925, 453?, M(.)’ 050, 263 Specifications
Actllon Double acting/Single rod Style Air-hydro Cylinder —
Fluid Air Bore size (mm) 020, 825, 032, 040, 850, 63 CJP
Max. operating pressure 1.0MPa Action Double acting/Single rod —
Min. operating pressure 0.05MPa Fluid Turbine oil CJ2
Piston speed 50 to 750mm/s Proof pressure 1.5MPa —
Cushion Rubber bumper Max. operating pressure 1.0MPa CM2
Min. operating pressure 0.18MPa
Basic, Axial foot, Front flange, Rear flange, Piston speed 15 to 300mm/s
Mounting Front trunnion, Rear trunnion, Clevis Cushion None C85
(Used for changing the port location by 90° degrees.) Ambient and fluid temperature +5 10 60°C =
. + Auto switch can be mounted. Thread tolerance JIS class 2 C76
Applicable Tube O.D./I.D. Stroke tolerance Up to 1000 *!*mm, Up to 1200 *¥mm ——
Bore size (mm) 020 | 025 | 032 | 040 | o050 | ©63 Basic, Axial foot, Front flange, Rear flange,
Applicable tube (mm) 26/4 | 26/4 | 06/4 | 08/6 |010/7.5/010/7.5 Mounting Front trunnion, Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.) ——————

Applicable tube material Nylon, Soft nylon, Polyurethane

+ Refer to p.1.7-3 for other specifications.

Clean Series

* Auto switch can be mounted.

Copper Free

MB
MB1
CP95

10-CG1’ Mounting ‘N’ Bore size H Stroke

Clean series (with relief port)

The rod portion of the actuator has a double seal construction, and a relief
port is provided to discharge the exhaust air directly outside of the clean
room. Thus, it is a style that can be used in a Class 100 clean room.

20-CG1’ Mounting H Cushion H Bore size H Stroke ‘

Copper free

This cylinder eliminates any influences of copper ions or fluororesins on
colour CRTs. Copper materials have been nickel plated or replaced with
non-copper materials to prevent the generation of copper ions.

Specifications Specifications

Bore size (mm) 020, 925, 832, 940, 850, 63, 880, 100 Bore size (mm) 220, 925, 932, 240, 250, 263, 280, 2100
Action Double acting/Single rod Action Double acting/Single rod
Fluid Air Fluid Air
Max. operating pressure 1.0MPa M?X' opera‘tlng pressure 1.0MPa
i - Min. operating pressure 0.05MPa

in. operating pressure 0.05MPa . N Rubber bumper
Cushion Rubber bumper Cushion A Air cushion
Piston speed 50 to 400mm/s . 220 to 63 50 to 1000mm/s

- - Piston speed

Relief port size M5 80/100 50 to 700mm/s

Mounting
* Auto switch can be mounted.

Basic, Axial foot, Front flange, Rear flange

O

Basic, Axial foot, Front flange, Rear flange,

Front trunnion, Rear trunnion, Clevis

(Used for changing the port location by 90° degrees.)

* Front/Rear trunnion styles are not available for bore sizes 880 and 100. Refer to p.1.7-8
for dimensions.

* Auto switch can be mounted.

Mounting*

1-7-5

c95




Series CG1

Water Resistant

C_DG1 ’Mounting‘ ’Bore size‘ m Stroke = G5BAL |-XC6

With auto switch
(built-in magnet) Solid state switch
(Water resistant/

2 color indicator)

Water resistant

R _[Seal: NBR (Nitrile rubber)
V_ [ Seal: FKM (Fluorine rubber)

Ideal for use in a machine tool environment exposed to coolant mist. Also
suited for use in areas in which water splashes, such as food processing
equipment or car washers.

Specifications

Action

Double acting/Single rod
232, 940, 50, 263, 80, 100
Rubber bumper/Air cushion

Bore size (mm)

Cushion

Auto switch mounting method Band mounting

Made to order Material of the piston rod and rod end nut is stainless steel. (-XC6)

* Other specifications are the same as the standard model.

Dimensions

Rubber bumper
GA 0
<
oo
| iN)
I17 L
e e - ;
=
(F1) || TA
S + stroke F
Z7 + stroke
Air cushion ya
GA o
& 0
il
o _ 7
2 S=N
(F1) || TA
S + stroke F
ZZ + stroke
(mm)
Bore (mm) | (E1) | E* | (F1) | F* | GA S TA | WA 2z
32 17 | 18 2 2 18 77 (85) 17 | 20 |119 (127)
40 21 | 25 2 2 19 84 (93) 18 | 21 |136(145)
50 26 | 30 2 2 21 97 (109) | 20 | 23 |157(169)
63 26 | 32 2 2 21 97 (109) | 20 | 23 |[157 (169)
80 32 | 40 3 3 28 | 116(130) | — | 30 |190 (204)
100 37 | 50 3 3 29 | 117(131) | — | 31 |191 (205)

* These dimensions and other dimensions not indicated here are the same as standard.
Note) ( ): Long stroke

1-7-6

O

Made to order

/\ Precautions

Ll |

| Be sure to read before handling. :
1 Refer to p.0-39 to 0-46 for Safety Instructions
1 and common precautions. 1

U U g |

] Precautions on handling

A Warning

(D Do not operate the cushion valve in the fully closed or fully
opened state.

® Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the
piston rod assembly or the cover to be damaged.

(2 Operate within the specified cylinder speed.

@ Failure to do so will damage the cylinder and the seals.

/A Caution

(D Do not use the air cylinder as an air-hydro cylinder. This
will cause an oil leak.

(@ Install without twisting the bellows.

@ [f the cylinder is installed with its bellows twisted, it could
damage the bellows.

] Disassembly/Replacement

/\ Caution

(D Do not replace the bushings or the cushion seals.

® The bushings and the cushion seals are press-fit. To replace
them, they must be replaced together with the cover assembly.

(2 To replace a seal, apply grease to the new seal before
installing it.

@ [f the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading to
premature air leakage.

(3 Do not replace One-touch fittings.

® Because pipe fittings are press-fit, they must be replaced
together with the cover assembly.

@ Those with a bore of 850 or more cannot be disassembled.
® When disassembling a cylinder with a bore of 620 to g 40, use
a vise or the like to hold the wrench flats portion of the tube
cover or the rod cover on one side, while placing a wrench or
an adjustable wrench on the other side to loosen and remove

the cover. To replace, tighten it an additional 2... from the
installed position. (Those with a bore of @50 or more cannot be
disassembled because they have been tightened with greater
torque. If they must be disassembled, contact SMC.




Standard: Double Acting Single Rod Series CG1

280, o100

Construction
With rubber bumper 280, 0100
@i&?@i 9)(7) (8
&
_ 1IN
R I\

With air cushion

0@

D)

Long stroke

L 27 1
\

- N
[\
Long stroke
Component Parts

No. Description Material Note
@ Rod cover Aluminum alloy White hard anodized
@ Tube cover Aluminum alloy White hard anodized
® Piston Aluminum alloy Chromated
O} Piston rod Carbon steel Hard chrome plated
® Bushing Qil impregnated sintered alloy 240 or larger: Lead bronze cast
® Bumper A Urethane
@ Bumper B Urethane 240 or larger: the same as damper A
Snap ring Stainless steel Except for 280 and 100
©) Wear ring Resin
Rod end nut Rolled steel Nickel plated
an Piston gasket NBR
\P) Cushion ring A Brass
3 Cushion ring B Brass @32 or more: the same as A
Seal retainer Rolled steel Nickel plated/Except for long stroke
B} Cushion valve Rolled steel Electroless nickel plated
Valve retainer Rolled steel Electroless nickel plated
\W) Lock nut Rolled steel Nickel plated
Cushion seal A Urethane
Cushion seal B Urethane 232 or larger: the same as A *
20 Cushion ring gasket A NBR
@ Cushion ring gasket B NBR @32 or larger: the same as A
) Head cover Aluminum alloy White hard anodized
) Cylinder tube Aluminum alloy Hard anodized

Note) A magnet is equipped on the piston of the cylinder with auto switch.
* The material is stainless steel on auto switch equipped styles 920 and 225.

Replacement Parts/With rubber bumper

Bore size (mm)/Part No.

e Deellaien Material ™59 225 032 240 250 063 280 2100

2 Rod seal NBR PDU-8Z PDU-10Z | PDU-12LZ | PDU-16Z | PDU-20Z PDU-20Z PDU-25Z | PDU-30Z
@ Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63 PPD-80 PPD-100
) Tube gasket NBR |CM-020-16-123| CM-025-16-124| CM-032-16-126| CM-040-16-127|CM-050-16-128 |CM-063-16-129 |CM-080-16-152 |CM-100-16-153

With air cushion (Parts @ to @ are the same as rubber bumper style.)

@

Valve seal

NBR

O ring 4.5 X 2.5 X g1

O ring 5.5 X 83.5 X o1

O ring ©6.5 X 94.5 X o1

@

Gasket for valve retainer

NBR

O ring 96.4 X 5.2 X 0.6

O ring 97.4 X 95.8 X 0.8

Oring211.4 X 29.4 X o1

O

SVC

1-7-7

e




Series CG1

Basic/CG1BN: With Rubber Bumper

GA 2-RC(PT)P GB
TA/TB Width | |
cross section MM _H1_ Zoross
2-TC T flats B1 ‘
o / [ T
) =} v L 5 o -
= a oo S
M| 4 e (l[=) Pi | _ _ 7 oo
B = s, - @ W !
\l/ ) Lg - \ \b\ %
AL
T A " |K|F|TA|l \4TC 7B/
Iﬁ | H S + Stroke F
[ ZZ + Stroke ‘
Basic: With rod boot
I _ 1
N i
2|0 T A
SN ST e e )] |
8| ¢
- h+e
ZZ + ¢ + Stroke
Built-in One-touch fitting Air-hydro
GA GB
= R e
oHD Vi LN}
Pipe O.D. oPD J% ;_\'wi’ :d - -
T T T
H | % S + Stroke
1Y
7% ; B ZZ + Stroke
Other dimensions are the same as the long stroke standard.
Other dimensions are the same as standard.
(mm)
Bore |Standard |Long stroke
T |swolm| (o) A|AL|B1|C |D|E|F [GA| GB | H |H1]| I J K |[KA| MM |[NA|P S TA| TB 7z
20 Upt0200 | 2010350 | 18 [155|13 |14 | 8 |12| 2 [12]| 12 |35| 5 |26| M4Depth7 | 5 | 6 M8 | 24[1/8] 69(77) | 11| 11 |106 (114)
25 Up t0 300 | 3010400 | 22 [ 19517 [ 16510 |14 | 2 [12[10(12)| 40| 6 | 31| M5Depth75 [5.5| 8 |M10X1.25/29 [1/8| 69 (77) [ 11| 11 [111(119)
32 Up to 300 | 3010450 | 22 [195|17 |20 |12 |18 | 2 [12[10(12)| 40| 6 |38 | Ms5Depth8 |5.5| 10 |M10X1.25(355(1/8| 71 (79) |11 [10(11)[113 (121)
40 Up t0 300 | 301t0800 [ 30|27 | 19|26 |16 |25 | 2 [13[10(13)| 50| 8 |47 | M6Depth12 | 6 |14 [M14 X 1.5/ 44 |1/8| 78 (87) | 12 [10(12)[130 (139)
50 Up t0 300 |301t01200| 35|32 |27 [32[20|30| 2 |14 [12(14)| 58| 11|58 | M8Depth16 | 7 | 18 [M18 X 1.5/ 55 |1/4| 90 (102) | 13 [12(13)[ 150 (162)
63 Up t0 300 [301t01200| 35|32 |27 |38 |20 |32 | 2 |14 |12(14)| 58 | 11 | 72 | M10Depth16 | 7 | 18 [M18 X 1.5 69 | 1/4| 90 (102) | 13 |12 (13)| 150 (162)
80 Up t0 300 |301t01400| 40 | 37 | 32 |50 |25 |40 | 3 |20 |16(20)| 71| 13 | 89 | M10Depth22 | 10 | 22 [M22 X 1.5| 80 |3/8| 108 (122) | — | — |182 (196)
100 | Upto 300 [301t01500| 40 [ 37 | 41|60 [30 |50 | 3 |20 [16(20)| 71 | 16 [110| M12Depth22| 10 | 26 [M26 X 1.5/ 100 [1/2] 108 (122) | — | — [182 (196)
Note 1) ( ): Long stroke Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size 80 and 100.
TA/TB cross section (mm) With rod boot (mm)
Bore Bore et =g e s .
(mm) TC* | TDhe | TE|TF TG oy e | f | h|WIJHWI ¢ ZZ  Buijlt-in One-touch fitting Air-hydro
20 M5 8*9% | 4 |05]|55 20 30 | 16 | 55 | 27 |(145)| (115) 126 (134)  Bore Bore
25 M6 X0.75| 10*3% | 5 | 1 |65 25 30 |17 | 62 | 32 |(175)| (115) 133 (141)  (mm) GA| GB |HD|HH PD (mm) S |#
32 M8 X1.0| 12*8% [55| 1 |75 32 35|17 | 62|38 |(195|(115)| & [135(143) 20 12 [10(12)| 13 | 42| 6 20 70 | 107
40 M10X1.25| 14*398 | 6 [1.25|85 40 35 |17 | 70 | 48 |(25)|(13) %150(159) 25 12 [10(12)| 13 |267| 6 25 70 112
50 M12X1.25| 16*39% [ 75| 2 | 10 50 40 (17|78 | 59 |(25)|(13)| g [170 (182) 32 12 [10(12)| 13 (302] 6 32 72 [114
63 M14 X 1.5 18*39%8 [115] 3 |145 63 40 |18 |78 | 72 | (25)|(13)| o [170 (182) 40 12 [10(12)| 16 |346| 8 40 80 | 132
80 — — — | == 80 5210|8059 | — | — 191 (205) 50 13| 13 |20 [406] 10 50 95 | 155
100 — — — | == 100 |62| 7 |80|71|—|— 191 (205) 63 13| 13 |20 [471] 10 63 95 | 155
* The minimum stroke for rod boot equipped style is 20mm.  Note) ( ): Long stroke
1-7-8

O

SVC



Standard: Double Acting Single Rod Series CG1

With Mounting Bracket

Axial foot/CGNLN Axial foot (mm)
Bore YA zz
(mm) | B |LC|LD|LH] LS |LTILX|LZ|M| W | X | Y [Without With rod| Without [ With rod
s rod boot| boot | rod boot boot
_ 157 £ =L 344 |6(20145(53)3[32|44|3[10|15|7| 47 | 67+ 110(118) 130 (138) +¢
R 7L - ' 35|4 | 6|22045(53) 3|36 (49 (35|10 | 15| 7 | 52 | 74+¢ |1155(1235)[1375(1455)
5 454 [66]2545(53) 3 |44 |5835/ 10| 16 | 8| 53 | 75+¢ |1175(1255) (1305 (1475)
| r: 545 | 4 (66/30(51(60) 3|54 |71[4| 10| 165(85| 63.5 83.5+e 35(144) | 155 (164) +¢
W \2eC 705| 5|9 |40/55(67) 45|66 |86|5|175| 22 [11] 75.5 |95.5+¢ 1575(1695) 775(1895)
2 X Jy] (Knock pin position) YL x]lm 25| 5 [11]45]55 (67]45| 82 | 106 5 175] 22 [13] 75.5 | 955+ 1675 (1605 775 95 |CU T
77 + Stroke | oD 101] 6 |11]5560 (74) 45| 100 | 15| 5 | 20 | 285 [14] 95 |104+¢ 1885(2025) sRIE e
—— == 100 | 1216 |14]65/60 (74) 6 [ 120|150 7| 20 | 30 [16] 95 |104+¢| 12g |20« |CJIP
Note) ( ): Long stroke —
Flange
Front flange/CG1FN g (mm) CM2
Rear flange
Bore Stroke range 77 e —
F_ET (mm) B|E|F|FXIFDIFT Without | With rod
"l Front Rear rod boot | boot 085
20 |Upto350{Upto200| 40 | 12| 2 |28 |[55| 6 | 112 | 1824 ———
8 25  |Upto400{Upto300| 44 |14 | 2 [ 32|55 7 | 118 | 140+« |C76
o7 - 32  |Upto450{Upto300| 53 | 18 | 2 | 38 | 6.6 | 7 | 120 | 1424  ——o
s ! g — - 40 |Upto800|Upto500| 61 | 25 | 2 | 46 | 6.6 | 8 (138 (147)[158(167) +
50  |Upto1200{Upto600| 76 | 30 | 2 | 58 | 9 | 9 [159 (171)[179(191) +
63  |Upto1200{Upto600| 92 | 32 | 2 | 70 | 11 | 9 [159 (171)[179(191) +
80  |Upto1400{Upto750| 104 | 40 | 3 | 82 | 11 | 11 [193(207)[202 (216) +¢ MB
100 |Upto1500|Upto 750|128 | 50 | 3 |100| 14 | 14 [196 (210)[202 (219) +¢
0B Note 1) ( ): Long stroke MB1
Note 2) End boss is machined on the flange for gE.
Rear flange/CG1UN CP95
4-0FD Cc95
- ==
+ CA1
[JFX+0.15 CS1
L 0B ZZ + stroke —_—
Front trunnion/CG1UN Trunnion (mm)

Bore | Stroke range

— 18 Bracket mounting range )i |
P o - 0119 720 |Upto200Upto200] 38 | 833

B | TDe8 | TE|TF |[TH| TR |[TS | TT | TV

3825110 55| 25 [ 39 | 28 | 3.2 358
25 |Upto300{Upto300[45.5| 10=3:852| 10 [ 55| 30 | 43 | 33 [ 3.2 [39.8
32 |Upto300{Upto300] 54 | 1223:9%5| 10 | 6.6 | 35 [54.5| 40 | 4.5 |49.4
40 |Upto500{Upto500[63.5| 1423333 10 | 6.6 | 40 |65.5| 49 | 4.5 [58.4
50 |Upto600jUpto600] 79 | 16-3:8%5| 20 | 9 |50 [ 80 | 60 | 6 |724
63 |Upto600jUpto600] 96 | 18-3:925| 20 | 11 | 60 | 98 | 74 | 8 |90.4
Front Rear

Bore |y | x| TY | T2 z Z 2z
(mm) Without | With rod | Without | With rod | Without | With rod
L y4 rod boot boot rod boot boot rod boot boot
‘ ZZ + stroke 20 |42 |16 |28 |476| 46 | 66+ | 93 |113+¢| 114 |134+¢
25 |42 |20 |28 |53 | 51 | 73+ | 98 |120+¢| 119 |141+¢
Rear trunnion/CG1TN 32 [48 | 22|28 |67.7] 51 | 73+ | 101 | 123+¢| 125 |147+¢
Bracket 40 | 56 | 30 | 30 |787| 62 | 82+¢ [118(125)138(145) 146 (153|166 (173)
TR mounting 50 |64 |36 |36 [986] 71 | 91+ [136(147)[156(167) 168 (179)]188 (199)
63 | 74 | 46 | 46 [192] 71 | 91+¢ 136 (147)[156 (167) +173 (184)[193 (204) ¢

* Consists of pins, flat washer and hexagon socket head cap bolt.
Note 1) ( ): Long stroke
Note 2) Refer to p.1.7-11 for pivot bracket.

Z + stroke
ZZ + stroke

1-7-9



Series CG1

With Mounting Bracket

Clevis/CG1DN Clevis (mm)
220 to 063 (Er’]:’r:% S"‘(’:‘ﬁr:f)”ge B |cb|cx|cz| L |RR| Vv |TE|TF|TH
oCD External
Rt et L TR_R_ o 20 [Upto2oo| 38 [ 8 | — |29 [14 |11 [ — [ 105525
| niema 25 |Upto300/455| 10 | — | 33 | 16 | 13 | — | 10 | 55 | 30
5 32 |Upto3oo| 54 |12 | — |40 | 20| 15| — | 10|66 35
jIF ,=§g=§£= 3 40 |Upto500[635| 14 | — | 49 [ 22 | 18 | — | 10 | 6.6 | 40
S ! 50 |Upto6oo] 79 | 16 | — [ 60 |25 | 20| — [ 20| 9 | 50
= ] 63 |Upto600| 96 | 18 | — | 74 |30 | 22 | — [ 20 | 11 | 60
;TY‘i 80 |Upto750/99.5| 18 | 28 | 56 | 35 | 18 | 26 | — | 11 | 55
| rEt010 7+ Stroke TW 100 |Upto750[120| 22 | 32 | 64 | 43 | 22 | 32 | — [135] 65
=0 22+ Stroke B With rod boot | Applicabl
(n;’rrr‘f) TV |TW| X [TY | T2 | Z | ZZ e
(The above shows the case port location is changed by 90° degrees.) z ZZ |pinp .
20 32 [358| 42 | 16 | 28 [43.4] 118|139 | 138+ | 159+ | CD-G02
25 3.2 [39.8| 42 | 20 | 28 | 48 | 125|146 | 147+ | 168+ | CD-G25
280, o100 32 45 (49.4| 48 | 22 | 28 |59.4| 131|155 | 153+ | 177+ | CD-G03
L RR 198+¢
—yT LoOEKemal 40 |4.5(58.4| 56 | 30 | 30 |71.4 (11?5?) (11;% (:;g:j) song| CD-GO4
T M /Internal d9 173 205 | 193 (22;‘)
I / 7 5 | 193+¢ | 225+
5 ) 50 6 724/ 64 | 36 | 36 | 86 | o0 | 517 |iogseg - CD-G05
1
\ 178|215 | 198+ | 235+
= 4| 74 | 46 | 46 | 1054 D-
% ; 5[ 63 8 |90 6 | 46 | 1054 00| 1297) | 2104 24 CD-G06
214 | 2725 | 203+ | 2815¢
80 11{110] 72 | 85 | 45 | 64 | ool e |y 554 IY-GO8
2o 222 | 2985 | 231+ | 30754
ZZ + Stroke - i + d y
100 | 12 /130 93 (100 | 60 | 72 | ioct || gy @154 IY-G10
Note 1) ( ): Long stroke
+ Clevis pins and snap rings are attached for the clevis style. Note 2) Refer to p.1.7-11 for pivot bracket.
Basic/With Air Cushion: CG1BA
MM WA 2-P WB
Width across H1 _G_A, GB
flats B1 -
=
o
. s g u
) _ VT ~ T
Wi - I Y
wle X U
sy
AL
A K
FIITA| \4TC TB|| F
H S + Stroke
e ZZ+Stroke
. With rod boot mm
With rod boot ore {(mm)
flh|W[H[IW| ¢]| zz
_ TRRE J | JH |J
L ) 20 30 | 16 | 55 | 27 |(145)|(115) 126 (134)
3 8 T }Gé 25 30 | 17 | 62 | 32 |(175)|(115) 133 (141)
D — O 32 35| 17 | 62 | 38 |(195)|(115)| & [135 (143)
- 40 35 | 17 | 70 | 48 |(225)] (13) % 150 (159)
50 40|17 | 78| 59 |(25)|(13)| 10 170 (182)
8l ¢ |1 63 40 | 18] 78| 72 [(25)|(13)] S [170(182)
hate 80 52|10/80 |59 | — | — 191 (205)
27 + ¢+ Stroke 100 |62] 7 [80|71|—|— 191 (205)

* The minimum stroke for rod boot equipped type is 20mm.

?nf;‘; S‘fgﬁ;;d(fgﬁ;‘e rL;’[?gesm AlAL|Bi|C|D|E|F|GAl GB |[H|Hi I J K|lka| MM |NA| P s [TA| TB | TC* | zz |wa|wB|wH|ws
20  |Upto200| 2010360 |18]165]13[14] 8 [12] 2 [12[10 (12 35| 5 | 26| meDeph7 | 56| M8 |24] M5 |9 7711] 11 | M5 | (g |16 50623 [30°
25 |Upto300] a0ito400 [22[195[17[165[10[14] 2 [12[10 (12)[ 40 6 [31] WeDeptr75 [55] 8 [M10X1.25[29] M5 |69 (77)[11] 11 [M6 X 0.75 11119 [16 (18] 25 [30°
32 |Upto300] 30iteas0 |22]195[17[20[12]18] 2 [12[10 (12){ 40| 6 [ 38| M5Depths |55]10 |M10 X 1.25[355] Re(PT)1/8 [71 (79) 11 | 10 (1) | M8 X 1.0 | 1132 |16 s 16285 [ 25°
40 |Upto300] 301to800 [30]27[19]26[16]25] 2 [13[10(13) 50| 8 [47| W6 Deptn 12 | 6 |14 |M14 X 1.5[44| Re(PT)1/8 [78 (87) 12| 10 (12) [M10 X 1.25] 130139) [ 16 [ 18] 33 [ 20°
50  |Up to300|301t01200| 35|32 27[32[ 2030 2 [14]12 (14)[ 58 [ 11] 58| M8 Deptn 16 | 7 |18 |M18 X 1.5]55 | Re(PT)1/4 90 (102 13| 12 (13) [M12 X 1.25] 150182 | 18 [ (18405 | 20°
63 |Up to300|301101200| 35|32 27[38[20 32| 2 [14[12 (14)[ 58 [ 11| 72| M10 Deptn 16 | 7 |18 |M18 X 1.5]69 | Re(PT)1/4 90 (102) 13| 12 (13) [M14 X 1.5 150162 [ 18 [ (18fa7.5 [ 20°
80  |Upto300[301to1400] 40|37 [32[50( 25 40| 3 |20]16 20) 71 [ 13] 89| m10 Deptn 22 [ 10] 22 |m22 X 1.5 80| Re(PT)3i8 [108 (20| —| — | — [ [22]22 60| 20°
100 |Up to 300/ 301to1500] 403741 ]60[30[50] 3 [20[16 (20)[ 71 [16] 110 12 Deptn 22 [ 10] 26 [M26 X 1.5[100] Re(PT)1/2 [108 (122 —| — | — | [22[22]71 [20°

Note 1) ( ): Long stroke
Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size 880 and 100.
Note 3) Refer to p.1.7-11 for mounting brackets.

1-7-10

O

SVC



Series CG1
Accessory Dimensions

Single Knuckle Joint

Double Knuckle Joint

I-G02, GO3 I-G04, G05, G08, G10  Material: Y-G02, G03 Y-G04, G05, G08, G10
MM #NDH10 Castiron Material: Rolled steel ~ 2ND External H10 Material: Cast iron
MM oNDH10 MM Internal d9 oND External H10
o o AN L MM Internal d9
EI-—‘ }— (1N o 7\ H , ??(\
5_1}]9_1 =} N 7y il CL
Al U1 i ]
L1 All U1 g [\ \4
A NX L1 L1 CJP
A NX Al| U1
Material: Rolled steel A NZ L1 C 2
Al
Bore size (mm) Ji
Part No. (mm) A | A |E1| Lt MM R1 | U1 | NDn1o NX
Bore i
IKG02 | 20 |34 (85|016[25| M8 [103[115] 8°9%° 893 N | gz | A |A1[Er|Li| MM [ Ri|Ur IND| NX |NZ| L Apprl)'ﬁfb'e CM2
1-G03 | 25,32 | 41 [105 /020 30 [M10X 1.25|12.8 | 14 [10 *3%%8| 1083 Y-G02| 20 |34 |85|016| 25| M8 |103]115 8 | 8793 16| 21 | Iv-Go2 [———
0.058 0.3 : : : ;
1G04 | 40 142114 1022/ 30 14X 15112 114 [10% ~| 18 o Y-G03 |25, 32] 41 [10.5]020] 30 [Mi0X 1.25[12.8] 14 | 10 [10:34[ 20 [25.6| Iv-Go3  |C85
peus s el il Sl ol el AU G 22 s Y-G04| 40 | 42| 16 |022] 30 [M14X 15| 12 | 14| 10 [18:33] 36 [41.6[ IV-Go4 —=
-G08 | 80 | 71|21 03850 M22X 15|21 127 18 | 28 o5 Y-GO5 |50, 63] 56 | 20 |028] 40 [M18X 15| 16 |20 | 14 [22:35] 44 506 IY-Go5 | CT76
I-G10 | 100 |79 |21 [044] 56 [M26X1.5[24 |31 [22 % ™| 3203 Y-G08| 80 | 71| 23 |038] 50 |M22X 15| 21 | 27 | 18 |28793 56 | 64 | IY-G08 =
. Y-G10| 100 | 79 | 24 |g44| 55 [M26 X 1.5| 24 | 31 | 22 |32103] 64 | 72| IY-G10
KnUCkIe Pln + Knuckle pins and snap rings are attached. CG1
1 5/8 Pivot Bracket MB
| B
m ¢ m 020 to 063 MB1
Material: Rolled steel
o A Nt ™ U, o1 —_—
Material: Carbon steel (mm) I‘——ﬂ "—,Pi
Part No. |Bore size| pgq Ll g 2 | m t Applicable i TR CP95
. (mm) snap ring J} —
1Y-G02 20 8 3% 21 [ 7.6 [16.2] 1.5 | 0.9 | C-8typeforpivot ] g +0.10 Sle C95
IY-G03 | 25,32 | 10233%(25.6] 9.6 |20.2[1.55]1.15C-10 type for pivot Y °-0 ElE i
1Y-Go4 40 | 102087[41.6] 9.6 [36.2[1.55]1.15 [C-10 type for pivot i )| Kook 1\TyF C92
IY-G05 | 50,63 | 1423833]50.6| 13.4 |44.2|2.05 | 1.15 [C-14type for pivot 4-oTF ™ =5 I
1Y-Go8 80 18 3383( 64 | 17 [56.2]2.55]1.35]C-18type for pivot Tv = CA1
IY-G10 100 | 223%%| 72 | 21 |64.2]2.55]1.35 |C-22type for pivot 1z
. . 280 to 2100 P
Clevis Pin Material: Cast iron CS1
TN oTR oTd —
(o2}
T —
Q
m ¢ m Nl
L QlF
t / A |: T
Material: Carbon steel (mm) — : i
H I I
Bore size Applicable } U
Part No. (mm) Dd9 L d ¢ m t snap ring 4-0TF :; '_I:\(N
CD-G02 20 8 5592143.4] 7.6 |38.6] 1.5 | 0.9 [C-8type for pivot (mm)
CD-G25 25 102332 48 | 9.6 |42.6] 1.55 | 1.15 [C-10type for pivot -
CD-G03 32 12 3383]59.4] 11.5| 54 [ 1.55 | 1.15 |C-12type for pivot Part No. B?[ﬁrg')ze TB | Td | TE | TF |[TH | TN | TR | TT
CD-G04 40 14 20:389|71.4| 13.4 | 65 | 2.05 | 1.15 |C-14 type for pivot CG-020-24A 20 36 | 8 | 10 |55 25 |23 13 | 32
CD-G05 50 16 20:533| 86 | 15.2[79.6] 2.05 | 1.15 |C-16 type for pivot ST e RAKGRED 5'5 30 (331 15 3'2
CD-G06 63 18 3333]105.4 17 |97.8] 2.45 | 1.35 [C-18type for pivot : ' :
+ Clevis pins and knuckle pins are common for bore size 80 and 2100. gg-giﬁ-zzﬁ 2(2) 22 _}i ::8 2663 ig Ejgg ;: ::
Rod End Nut CG-050-24A 50 70 |16 |20 | 9 | 50 [(604)] 24 | 6
" Material: Rolled steel CG-063-24A 63 82 [ 18 [ 20 [ 11 [ 60 (74.31) 2 | 8
CG-080-24A 80 73 |18 | — | 11 [ 55 [283%] 36 | 11
] CG-100-24A 100 | 90 [ 22 [ — [135] 65 [328%] 50 | 12
a
Q Bore size Applicable
Part No. mmy | TU | TV | TW T TY | TZ | SRR
H1 CG-020-24A | 20 [18.1|35.8] 42 | 16 | 28 |38.3] 8d9 33%
(mm) CG-025-24A | 25 |20.7|39.8| 42 | 20 | 28 [42.1| 10d9 3323
Part No. BO(rlgra1 r%I)ze d Hi | B c | b CG-032-24A | 32 [23.6]49.4| 48 | 22 | 28 |53.8| 12d9 :§§S§
CG-04024A | 40 |27.3[58.4| 56 | 30 | 30 |64.6] 14d9 3333
NT-02 20 M8 5 | 13 | (15) |125 CG-050-24A | 50 [29.7[72.4] 64 | 36 | 36 |79.2] 16d9 3953
NT-03 25,32 M10X1.25| 6 | 17 | (19.6) | 165 CG-06324A | 63 |34.3[90.4| 74 | 46 | 46 [97.2] 18d9 3353
NT-Go4 40 M14X15| 8 | 19 | (21.9) | 18 CG-080-24A | 80 | — | — | 72 |85 [ 45 [110] 18d9 3353
NT-05 50, 63 M18X1.5 | 11 | 27 | (31.2) | 26 CG-10024A | 100 | — | — | 93 [100] 60 [ 130 22d9 %8
NT-08 80 M22X1.5| 13 | 32 | (37.0) | 31
NT-10 100 M26 X1.5 | 16 | 41 [ (47.3) | 39
1-7-11

O

SVC



1-7-12

Series CDG1

Auto Switch Specifications

Refer to p.5.3-2 for details of the auto switch.

Applicable auto switch

Applicable

-y Auto switch model Electrical entry (Function) bore size | rage
“ D-C7, C8 Grommet 5.3-9
J— N 220 to 863
d I Reed D-C73C, C80C Connector 5.3-11
; & switch D-B5, B6 Grommet 5.3-10
% e _= 220 to 6100
e " ’ D-B59W Grommet (2 colour indicator) 5.3-25
D-H70O Grommet 5.3-29
D-H7OW Grommet (2 colour) 5.3-42
D-H7LF Grommet (2 colour, Latch with diagnostic output) 5.3-49
220 to 963
D-H7NF Grommet (2 colour, Diagnostic output) 5.3-50
Solid state D-H7BA Grommet (2 colour, Water resistant) 5.3-55
switch D-H7C Connector 5.3-31
D-G5, K5 Grommet 5.3-30
D-G50W, K59W Grommet (2 colour) 5.3-43
D-G59F Grommet (2 colour, Diagnostic output) |20 to 100 5.3-51
D-G5NT Grommet (With timer) 5.3-59
D-G5BA Grommet (2 colour, Water resistant) 5.3-56

/\ Precautions

e e e P L

1 Be sure to read before handling.
I Refer to p.0-44 to 0-46 for Safety Instructions and common 1
! precautions.

U |

O



Standard: Double Acting Single Rod Series CG1

Auto Switch Mounting Position and Mounting Height

D-C7, D-C8 D-G5, D-K5, D-G500W, D-G5BA
220 to 063 . D-K59W, D-G59F, D-G5NT
85 Auto switch 12 Auto switch Hs
" T “n” 1 ﬁ —
: fe H o (B
%@} ==l el ol (O)Fx
_ A2 LAl s | B B cJ1
D-H7, D-H7COW D-C73C, D-C80C I
D-H70F, D-H7BA 220 to 963 ] CJP
220 to 063 Auto switch 8.5 Auto switch —
8.5 22 ——
1 i ‘ ; i : CJ2
| ! L. _ T L —
&1 ‘ ; ] T 1o %%ﬁ @% - CM2
A 25 s A 136.7] -B. c85
(36) ():D-H7LF D-H7C
D-B5, D-B6, D-B59W . 220 to 063
220 to 6100 12 Auto switch 85 Auto switch C76
- £ pe! CG1
=] =R & MB
A[382] B —
MB1
Auto Switch Mounting Position mm) Mounting Height (mm) 7CP95
Auto SWitzhl e D-B5.B6 D-C7,C8 D-B5,B6 D-G5NTL L
model | D-C7, ) N D-H7OW | D-G5 D-H7O D-B59W  D-G59F
pcrac | O N p.gsow Do |pHroF Dk D-H7O0W Do18C | p-g5, ks DeTC C95
D-C80C ) D-H7BAL | D-G5NTL D-H7CIF D-G500W D-G5BAL —
D-GSBAL D-H7BAL D-K59W C92
Bore A B A B A B A B A B A B HS HS HS —
20.5 15 17.5 19.5 18 16
20 30 (28.5) 24 (225) 27 (25.5) 29 (27.5) 27.5 (26) 25.5 (24) 24.5 27 27.5 CA1
20.5 15 17.5 19.5 18 16
25 30 (28.5) 24 (225) 27 (25.5) 29 (27.5) 27.5 (26) 255 (24) 27 29.5 30 CS1
21.5 15.5 18.5 20.5 19 17
32 31 (295) 25 (235) 28 (265) 30 (28.5) 28.5 27) 26.5 (25) 30.5 33 33.5
24 18 21 23 21.5 19.5
40 35.5 (33) 29.5 ©7) 32.5 (30) 34.5 (32) 33 (305) 31 (285) 35 37.5 38
28.5 22.5 25.5 27.5 26 24
50 43 (40.5) 37 (345) 40 (37.5) 42 (39.5) 40.5 (38) 38.5 (36) 40.5 43 43.5
28.5 22.5 25.5 27.5 26 24
63 43 (405) 37 (345) 40 (375) 42 (39.5) 40.5 (38) 38.5 (36) 47.5 50 50.5
31 34 32.5
80 — | — |46.5 (45) 49.5 @8y | — — | — | — | 48 (465) — — 59
31 34 32.5
100 — — | 46.5 (45) 49.5 (48) — — — — 48 (46.5) — — 69.5
( ): Long stroke, bore size 20 to 8100, Double rod
Auto Switch Mounting Bracket and Surface St: Stroke (mm)
Mounting bracket Basic/Foot/Flange/Clevis Trunnion*
1 2 2 2 2
Number of switch : On diff t)|(On th On diff t\[(On th
HmRer of SWIEhES| (Front side) ( Qurflagéin nsur?asc%me) ! ( i )( nsuﬁascaeme
Mounting |  syrface Surface Surface
surface |  with port with port with port o,
P % ok
Ra% i
Auto switch
model
D-C7, C8 10st or more| 151to 49st |50st or more | 10st or more | 15 to 49st |50st or more
D-H70), HTOW 10st or more| 15to 59st |60st or more | 10st or more | 15to 59st |60st or mor
D-H7BA, H7NF st or more 0 59s st or more | 10st or more 0 59s st or more
D-C73C, C80C, H7C| 10st or more | 15 to 64st |65st or more | 10st or more | 15 to 64st |65st or more
D-H7LF 10st or more | 20 to 64st |65st or more | 10st or more | 20 to 64st |65st or more
D-B5, B6, G501, K5
D-G500W, K59W, G5BA | 10st or more | 15 to 74st | 75st or more | 10st or more | 15 to 74st | 75st or more
D-G59F, G5NT
D-B59W 15st or more | 20 to 74st | 75st or more | 15st or more | 20 to 74st | 75st or more
* Trunnion style is not available for bore sizes 80 and 100. 1 '7'1 3

ZSNC



Standard: Double Acting Double Rod

Series CGTW

020, 025, 032, 940, 050, 663, 980, 6100

How to Order

CG1W
T T ]
CDG1W

With auto switch

(magnet)

Double acting/Double rod

25

100

|

I

25

100

B53

Applicable auto switch

|

Without auto switch
(Built-in magnet)

*Number of

auto switches
—
_s | 1
_h | n

Mounting b + Refer to the table below
- for selecting applicable
B Basic auto switches.
L Axial foot
Front flange o
ll_:l* Front trunngigon * Rod boot
- - — Without rod boot
* l;ls(tjz\qac;lgble for bore sizes 280 One | J | Nylon tarpaulin
«#+ Mounting brackets are included, »Cylinder stroke (mm) side | K | Heat resistant tarpaulln
not mounted. Refer to p.1.7-15 for Both JJ | Nylon tarpaulin
. Standard Stroke Table. sides| KK | Heat resistant tarpaulin
Cushion * * In case of foot brackets and front flanges,
N Rubber bumper rod boots are mounted when shipped.
A Air cushion
* Mounting accessories are not mounted, should be order
Bore size separate.Please refer order keys in next pages.
20| 20mm 50 | 50mm
25| 25mm 63 | 63mm
32| 32mm 80| 80mm
40 | 40mm 100/ 100mm
Applicable Auto Switches/Reter to p.5.3-2 for further information on auto switch.
Special s e Load voltage Auto switch model Lead wire (m)*
tyl pecial Electrical | & iring i " Applicable
Style R entry % (output) DG AC Applicable bore size 05| 3| 5 [None =
£ 22010063 | 820t0 0100 | () [(L)[(2)[(N)
?NVFV’II(IE) —| 5V — C76 ® | @ —|—|Ic|—
Yes — — B53 e |e|o|—| —[rc
£ Grommet 200V — B54 ® 0 0 —
o 12v
£ No or less = B64 o0 —|—| —
@ Yes ) 100V C73 o0 0| —
o —— 2wire |24V Rela
] No 5V, 12V[100Vorless| €80 e e —[—|[ic ¥
« c ) Yes 12V — C73C ® 0 0 e —
OnNeCtor Mo 5V, 12V|24Vorless|  C80C e |e|e[e| C
Diagnostic indication (2 colour)) Grommet | Yes - — — B59W ® o —|—| —
3 wire (NPN) H7A1 G59 ® 0 O|—
- 5V, 12V IC
Grommet 3 wire (PNP) H7A2 G5P ® |0 O|—
H7B K59 ® 0 O —
2 wire 12v —
§ Connector H7C [ BE LK)
= 3 wire (NPN ® 0O —
o Diagnostic indication W{fe( ) 5V, 12v Al 59w Ic
2 Yes |3 wire (PNP)| o4y _ H7PW G5PW ® 0 O|— Relay
s (2 colour) PLC
@ ) H7BW K59W ® |0 O|—
o 2 wire 12v —_—
3 Water resistant (2 colour) | Grommet H7BA G5BA — | @|O|—
@ With timer 3 wire (NPN) — G5NT — | @|O|—
5V, 12V IC
Diagnostic output (2 colour) 4 wire H7NF G59F ® 0 O —
Latch with diagnostic output . N
(2 coloun (NPN) H7LF ® |0 O
+Lead wire length 0.5m-+---.— e.g.) C73C  5meeeeee z e.g.) C73Cz
3meeeseeens L C73CL None---N C73CN
*Solid state switches marked with "O" are manufactured upon receipt of order.
1-7-14

O

SVC



L = I’ '.-—'-""'—fi
¥ __-_7:3_ //‘J
Qi G
- . -
3 =il . 4
= e —r
- 1‘.-_ '11"..#"‘”"__ - Ii i
N
o %i’f—f
JIS symbol

vade ] Made to Order

Refer to p.5.4-1 for made to order
products of series CG1.

Mounting Bracket

Refer to p.1.7-19 for part
numbers of the mounting brackets.

Auto Switch Mounting Band

Refer to p.1.7-19 for part
numbers of the mounting bands.

Standard: Double Acting Double Rod Series CGTW

Specifications

Bore size (mm)

20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

Action Double acting/Double rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa —
) ) Without auto switch: —10°C to +70°C (No freezing) C\”
Ambient and fluid temperature - - - —
With auto switch: —10°C to +60°C (No freezing)
Piston speed 50 to 1000mm/s 50 to 700mm/s CJ7P
Stroke tolerance Upto 1000”0‘4 m Upre 1000:0.: " CJ2
Up to 1200% 58 mm Upto 150075 mm  ———
Thread tolerance JIS class 2 CM2
Cushion Rubber bumper/Air cushion ——
Mounting* Basic, Axial foot, Front flange, Front trunnion 085
Q + Front trunnion style is not available for bore sizes @80 and 100. =* No freezing C76
Accessories
Mounting Basic | ool | fange | wmion  |MB
Standard | Rod end nut o ( o ([ .
Single knuckle joint o o (] (] MB1
| J!Z‘))?ntﬂe knuckle ° ° ° ° CP95
Option | (With pins) —
Pivot bracket* — — — o C95
Rod boot o ([ J [ J ( —
= Pivot bracket is not available for bore size 680 and 2100. 092
#+ Pins and snap rings for double knuckle joint are included, not mounted. —
Stroke CL
Bore size(mm) Standard stroke (mm) () Long stroke (mm) Max. stroke CS1
20 25, 50, 75, 100, 125, 150, 200 201 to 350 -
25 301 to 400
32 301 to 450
40 25, 50, 75, 100, 125, 150, 200 301 to 800 1500
50/63 250,300 301 to 1200
80 301 to 1400
100 301 to 1500

Note 1) Other intermediate strokes can be manufactured upon receipt of order. Spacers are not used for the
intermediate strokes. Refer to p.1.7-17 to 1.7-19 for dimensions.

Note 2) Long stroke applies to the axial foot style and the front flange style. If other mounting brackets are used,
or the length exceeds the long stroke limit,the stroke should be determined based on the stroke selection

table in the technical data.

With Auto Switch

Rod Boot Materials

The auto switch can be mounted. Refer to
p.1.7-12 to 1.7-14 for the details.

O

Symbol Material

Max. operating temp

J Nylon tarpaulin

70°C

K [Heat resistant tarpaulin

110°C*

* Maximum ambient temperature
rod boot only.

for the

1-7-15



Series CG1

w

Weight (kg)
Bore size (mm) 20 25 32 40 50 63 80 100 H
. /\ Precautions
= Basic 0.13 | 0.22 | 0.33 | 055 | 1.02 | 1.37 | 2.64 | 4.09
(®)]
2 Axial foot 024 | 0.35 | 049 | 0.77 | 1.50 | 2.09 | 3.60 | 5.84 :—B- - -t- - d-b-f- -h- EI - -:
e sure to read before handling.
%) Flange 21 .32 47 | 075 | 1.36 | 1.87 | 3.35 | 5.44
a = g_ 0 0.3 0 1 Refer to p.0-39 to 0-46 for Safety 1
@ runnion 014 | 024 | 036 | 060 | 116 | 1.51 | — | — I Instructions and common precautions. |
Pivot bracket 008 | 009 | 0.17 | 025 | 044 | 080 | — | — I Refer to p.1.1-6 for precautions on 1
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 ! series CG1. _:
Double knuckle joint (with pins) | 0.05 | 0.09 | 009 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31 mEEEmEEEEEEEEEE
Additional weight by each 50 stroke | 0.07 | 0.10 | 0.13 | 0.23 | 0.34 | 0.38 | 0.54 | 0.77
Additional weight by air cushion | 0.01 | 0.01 | 0.02 | 0.02 | 0.03 | 0.03 | 0.09 | 0.10
Calculation example: CG1WLN32-100 (Foot, 232, 100 stroke)
« Basic weight:----eeoeeevee 0.49 (Foot, 232) « Cylinder stroke-:------ 100 stroke

« Additional weight:------ 0.13/50 stroke

Construction

0.49+0.13 X 100/50=0.75kg

With rubber bumper

With air cushion

Component Parts

®®a

280, 6100

i

=

@  qo

_____ T
/. ————— f 2 ];

240 to 6100

T

X
s

K(B
{

T

!
|
T

Al

\

/

No. Description Material Note
(1 | Rod cover Aluminum alloy White hard anodized
@ | Cylinder tube Aluminum alloy Hard anodized
(3 | Piston Aluminum alloy Chromated
(@ | Pistonrod A Carbon steel Hard chrome plated
(® | Bushing Oil impregnated sintered alloy @40 or more: Lead bronze cast
% Ezzg::g 3::::::2 240 or more: the same as bumper A Note) A rybber magnet is eguipped on the piston of the
Rod end nut Rolled steel Nickel plated Cy“nd_er_vmh guto switch. ) .
@ | Piston gasket NBR * The material is stainless steel on auto switch equipped
Piston holder Urethane 240 or more™ styles 620 and 025.
@) | Cushion ring A Brass
1 | Cushion valve Rolled steel Electroless nickel plated
3 | Valve retainer Rolled steel Electroless nickel plated
(9 | Lock nut Carbon steel Nickel plated
@ | Cushion seal A Urethane
Cushion ring gasket A NBR
Replacement Parts/With rubber bumper
N - . Bore size (mm)/Part No.
© Description Material ™ 20 025 032 240 250 063 280 2100
@ Rod seal NBR | PDU-82 PDU-10Z | PDU-12LZ | PDU-16Z | PDU-20Z | PDU-20Z | PDU-25Z | PDU-30Z
Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63 PPD-80 PPD-100
Tube gasket NBR | CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129 | CM-080-16-152 | CM-100-16-153
With air cushion (Parts @ to @ are the same as rubber bumper style.)
20 | Valve seal NBR Oring 94.5 X 02.5 X g1 O ring 85.5 X 3.5 X @1 O ring 96.5 X 94.5 X o1
@) | Gasket for valve retainer | NBR Oring 96.4 X 5.2 X 0.6 Oring 87.4 X 25.8 X20.8 | Oringo11.4 X 99.4 X o1

1-7-16

O

SVC



Standard: Double Acting Double Rod Series CGTW

Air-hydro

Copper Free

CG1W | Mounting ‘H’ Bore size H Stroke ‘

Air-hydro

A low hydraulic pressure cylinder used at a pressure of 1.0MPa or below.
Through the concurrent use of a CC series air-hydro unit, it is possible to
operate at a constant or low speed or to effect an intermediate stop, just

20-CG1W’ Mounting H Cushion H Bore size H Stroke ‘

Copper free

This cylinder eliminates any influences of copper ions or fluororesins on
colour CRTs. Copper materials have been nickel plated or replaced with
non-copper materials to prevent the generation of copper ions.

like a hydraulic unit, while using pneumatic equipment such as a valve.

e Specifications
Specifications
- - Bore (mm) 220, 925, 832, 340, 850, 863, 880, 100
Style : Air-hydro Cylinder Action Double acting
Bor.e size (mm) 020, 925, 932, ﬁ49, 250, 663 Fluid Air
ACt.'O” D°“b|‘? acting Max. operating pressure 1.0MPa
Fluid Turbine oil Min. operating pressure 0.05MPa
Proof preSSL-Jre 1.5MPa Cushion N Rubber bumper
Max. operapng pressure 1.0MPa A Air cushion
Mln. operating pressure 0.18MPa . 220 to 063 50 to 1000mm/s
(P;IStT: speed 15 toNSOOmm/s Piston speed 280, 9100 50 to 700mm/s
us. on - one Mounting* Basic, Axial foot , Front flange, Front trunnion
Ambient and fluid temperature +5 to 60°C - - ] -
* Front trunnion style is not available for bore sizes 80 and ¢100. Refer to p.1.7-18
Thread tolerance JIS class 2 for dimensions.
Stroke tolerance Up to 1000** mm, Up to 1200*%® mm * Auto switch can be mounted.
Mounting Basic, Axial foot, Front flange, Front trunnion.

* Auto switch can be mounted.

Bore size 220 025 032 240 250 063
S 70 70 72 80 95 95
ZZ 140 150 152 180 211 211

Other dimensions are the same as double rod standard (p.1.7-18).

Basic CG1WBA: With Air Cushion

WA 2.P WA
MM H1_ GA / GA /M
Width across
2 flats Bt T n 5!“ i . ] §
oo i —
ot T
Nl ol e
= ; =,
T ' \
AL \ AL
A K|F||ITA| \4TC TA|F KL_A
. H S + stroke H + stroke
ZZ + 2 stroke

+ Refer to rubber bumper equipped type for rod boot equipped type. (mm)

Bore size (Standard stroke| Long stroke

(mm) range (mm) rangge (mm) A AL B1 C D E F GA H Hi1 | J K KA

20 Up to 200 | 201 to 350 18 15.5 13 14 8 12 2 12 35 5 26 M4 Depth 7 5 6

25 Up to 300 | 301 to 400 22 19.5 17 16.5 10 14 2 12 40 6 31 M5 Depth 7.5 55 8

32 Up to 300 | 301 to 450 22 19.5 17 20 12 18 2 12 40 6 38 M5 Depth 8 5.5 10

40 Up to 300 | 301 to 800 30 27 19 26 16 25 2 13 50 8 47 M6 Depth 12 6 14

50 Up to 300 | 301 to 1200 | 35 32 27 32 20 30 2 14 58 11 58 M8 Depth 16 7 18

63 Up to 300 | 301 to 1200 35 32 27 38 20 32 2 14 58 11 72 M10 Depth 16 7 18

80 Up to 300 | 301 to 1400 40 37 32 50 25 40 3 20 71 13 89 M10 Depth 22 10 22

100 Up to 300 | 301 to 1500 40 37 41 60 30 50 3 20 71 16 110 M12 Depth 22 10 26

Bore size = Refer tp p.146-19l for mount'ing t?rackets.

MM NA P S TA TC* Y4 WA WH We «+ Trunnion mounting taps with width across

(mm) flats NA are not attached for bore sizes 280

20 M8 24 M5 77 11 M5 147 16 23 30° and 2100.

25 M10X1.25| 29 M5 77 11 M6 X 0.75 157 16 25 30°

32 M10 X 1.25| 35.5 | Rc(PT)1/8 79 11 M8 X 1.0 159 16 28.5 25°

40 M14 X 1.5 44 Rc(PT)1/8 87 12 M10 X 1.25| 187 16 33 20°

50 M18 X1.5| 55 Rc(PT)1/4 | 102 13 [M12X1.25| 218 18 40.5 20°

63 M18 X 1.5 69 Rc(PT)1/4 102 13 M14X15| 218 18 47.5 20°

80 M22 X 1.5 80 Rc(PT)3/8 122 — — 264 22 60.5 20°

100 M26 X 1.5| 100 Rc(PT)1/2 122 — — 264 22 71 20°

1-7-17

O
Z



Series CGTW

Basic/CG1WBN: With Rubber Bumper

GA 2-RC(PT)P GA
Width MM
MM ’H - ACIOSS ‘
T flats B1
™ [ ! i it 9
QA & o —_ = oo
c>c>lD & =~ B e ) at T
'-gl s ) [ M Qy W
AL
AL (LA
A KlF TAJ 4-TC TAJF KL_A
S + Stroke H + Stroke 8-J
ZZ + 2 stroke
T ™ )
. . e
With rod boot on one side  _ ° - B r NA
“ g
8_| ¢ f
h+¢
ZZ + ¢ + 2 stroke
With rod boot on both sides
| Il
T T ThH W W
2g TR S e A h
il - - L =
¥ i@ ¥
8 ¢ f f | ¢+ Stroke| 8
h+e S + Stroke 1 h + ¢ + Stroke
ZZ + 2 (¢ + Stroke)
(mm)
Bore Stroke range
(mm) (mm) A | AL | B: |OC| D E F | GA | Hi | J K | KA MM NA| P S
20 Up to 350 18 |155] 13 | 14 8 12 2 12 5 26 M4 Depth 7 6 M8 24 | 1/8 | 77
25 Up to 400 22 |195| 17 |165| 10 | 14 2 12 6 31 M5 Depth 7.5 55| 8 [M10X1.25| 29 | 1/8 | 77
32 Up to 450 22 |195| 17 | 20 | 12 | 18 2 12 6 38 M5 Depth 8 55| 10 | M10X 1.25|355| 1/8 | 79
40 Up to 800 30 | 27 | 19 | 26 | 16 | 25 2 13 8 47 M6 Depth 12 6 14 | M14X1.5 | 44 | 1/8 | 87
50 Up to 1200 35 |32 |27 | 32 | 20 | 30 2 14 | 11 | 58 M8 Depth 16 7 18 | M18X 1.5 | 55 | 1/4 | 102
63 Up to 1200 35 |32 |27 | 38 | 20 | 32 2 14 | 11 | 72 M10 Depth 16 7 18 | M18X 1.5 | 69 | 1/4 | 102
80 Up to 1400 40 | 37 | 32 | 50 | 25 | 40 3 20 | 13 | 89 M10 Depth 22 10 | 22 | M22X 1.5 | 80 | 3/8 | 122
100 Up to 1500 40 | 37 | 41 | 60 | 30 | 50 3 20 | 16 | 110 M12 Depth 22 10 | 26 | M26 X 1.5 [ 100 | 1/2 | 122
Bore - W/o rod boot W/ rod boot on one side™ W/ rod boot on both sides™ .
mm | TA| TC H 2z | e [ f [ h [ W ][H]IW] ¢ ]2z 7z Air hydro
20 11 M5 35 | 147 | 30 16 55 27 | (145) | (11.5) 167 187 Bore s | zz
25 11 | M6X0.75 | 40 [ 157 | 30 | 17 | 62 | 32 |(17.5 | (115) 179 201 (mm)
32 11 M8 X 1.0 40 | 159 | 35 17 62 38 [(195) | (115 | £ 181 203 20 70 | 140
40 12 | M10X1.25 | 50 | 187 | 35 | 17 | 70 | 48 |(225)| (13) % 207 227 25 70 150
50 13 | M12X1.25 | 58 | 218 | 40 | 17 | 78 | 59 | (25) | (13) | o | 238 258 32 72 [152
63 13 M14 X 1.5 58 | 218 | 40 18 78 72 | (25) | (13) o 238 258 40 80 | 180
80 — — 71 | 264 | 52 10 80 59 — — 273 282 50 95 | 211
100 — — 71 264 | 62 7 80 71 — — 273 282 63 95 | 211

£

1-7-18

+ The minimum stroke for rod boot equipped style is 20mm.
+x Trunnion mounting taps with width across flats NA are not attached for bore sizes 80 and 100.

O
2



With Mounting Bracket

Standard: Double Acting Double Rod Series CGTW

Axial foot/CG1WLN Foot (mm)
Bore  |Stroke range
- - mm) | (om | B [LC|LD|{LH|LS LT |LX|LZ|M |W X |Y|Z
- ===} 20 |Upto350[34| 4 [ 6 [20]53] 3 [3244[3 [10[15]7 |47
1 5 L 13 25 |Upto400({385| 4 | 6 |22 (53| 3 [36]49(35|10|15]| 7 |52
} —vjv i S 32 |Upto450/45| 4 |6.6/25|53| 3 |44|58|35[/10|16| 8 |53
% YL XM Lx 40 |Upto800|545| 4 |6.6/30[60| 3 [54|71| 4 |10 |165|8.5 (635
Z LS+ oloke 4-0LD Iz 50 |Upt01200[705| 5 | 9 |40 |67 |4.5]66 86| 5 17522 11|55 ————
63 |Upto1200]s25] 5 | 11[ 45|67 [4.5]82[106] 5 [175]22]13][m5 |CJ1
2-0LC_ _ 80 |Upto1400{101| 6 | 11|55 |74 |4.5|100|125| 5 |20 |285{ 14|95 ———
Knock pin position 100 |Upto1500{121| 6 |14 |65 |74 | 6 |120[150| 7 [20|30| 16|95 CJP
Front fIange/CG1WFN Front ﬂange (mm) CJ2
Bore  [Stroke range
FFT__ (mm) (mm) B|E|F |FX|FD|FT CM2
| 4-0ED 20 [Upto350[40 |12 | 2 [28[55] 6
—+ o } B 8 25 |[Upto400| 44 [14| 2 [32|55] 7 C85
I S | o9
w|  EETR - E}% 1N | T 32 |Upto450| 53 |18 | 2 |38 |66 7
R = == ool 40 [Upto800| 61| 25| 2 |46 |66] 8 C76
L ¢ 50 [Upto1200] 76 [30 | 2 [58 | 9 | 9 ~fo
63 |Upto1200{ 92 (32| 2 |70 | 11| 9
DF)D&BOW 80 |Upto1400[104| 40 | 3 [ 82 [ 11 | 11 CG1
100 [Upto1500(128| 50 | 3 [100| 14 | 14 —
= End boss is machined on the flange for oE. M B
Front trunnion/CG1WUN .
Front trunnion ™mm |MB1
2 Bracketmounting  Bore | Strokerange| g | rpeg I qg | TE | TH | TR | TS ———
E g (mm) (mm)
7 T 2 ’f_, 20 Upto200 | 38| 823% |10 |55 25| 39| 28 CP95
—Q—nmf\ﬁ o rz,vh ~ | 25 Upto300 [455] 10239 | 10 [55] 30 | 43 | 33
T [' }m[ 32 Upto300 |54 | 122352 | 10 | 6.6 | 35 |54.5| 40 C95
) - [ 40 Upto500 [635] 14392 | 10 [ 6.6 | 40 |655] 49 ———
i (e £ - -
v - 50 Upto600 |79 | 16332 |20 | 9 |50 | 80 | 60 |C92
W 4-0TF10.10 63 Up to 600 70.052 L
Z ZZ + 2 stroke M P 96 | 1875059 | 20 | 11 B((r)nm)QS 74
_ CA1
2 TT| TV | TW | TX | TY | T2 M —
(mm) Yo podt. | With rod boot C S 1
20 3.2|35.8] 42 | 16 | 28 |47.6| 46 | 66+¢
25 3.2[39.8| 42 | 20 | 28 | 53 | 51 73+¢
32 45 (49.4| 48 | 22 | 28 |67.7| 51 73+¢
40 45 |58.4| 56 | 30 | 30 |78.7| 62 | 82+¢
50 6 |72.4| 64 | 36 | 36 |98.6| 71 91 +¢
63 8 |90.4| 74 | 46 | 46 |1192] 71 91 +¢
+ Consists of pins, flat washer and hexagon socket head cap bolt.
Mounting Bracket Part No.
Mounting Bore size (mm)
bracket 20 25 32 40 50 63 80 100
Axial foot* CG-L020{CG-L025|CG-L032|CG-L040|CG-L050|CG-L063|CG-L080|CG-L100
Flange CG-F020|CG-F025|CG-F032| CG-F040|CG-F050|CG-F063| CG-F080|CG-F100
Trunnion pin _ [CG-T020|CG-T025|CG-T032|CG-T040|CG-T050|CG-T063|  — —
: CG-020 | CG-025 | CG-032 | CG-040 | CG-050 | CG-063 | N
Pivotbracket | "o n" | "24n | -24A | -24A | -24A | -24A
+ Order two foot brackets per a cylinder.
+% Mounting bolts are attached for the foot and the flange styles.
Auto Switch Mounting Bracket Part No.
Bore size () Note) 5 of ollng sios st g sros & e
model 20 25 32 40 50 63 80 100 band separately.)
D-C7, C8 BMA2 | BMA2 | BMA2 | BMA2 | BMA2 | BMA2 | | Do Cotoatin oo
D-H7 -020 -025 -032 -040 -050 -063 - "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with
the screws above when shipped.
% BA-01 BA-02 BA-32 BA-04 | BA-05 BA-06 BA-08 BA-10 V\tlther}:adswitchonlyisshipped,“BBAa”or"BBA4"screwsare
-G5, attached.

O

1-7-19



Standard: Single Acting Spring Return/Extend

eries CG1

020, 025, 032, 040

How to Order

[y

With auto switchT

25

100

||

CDG1

N
T ]
N [25

100

B53

—

(magnet)
Mounting
B Basic U Front trunnion
L Axial foot T Rear trunnion
F Front flange D Clevis
G Rear flange

* Mounting brackets are included, not mounted.

lAuto switch

*Number of
auto switches

- |

Without auto switch
(Built-in magnet)

= 2

= Refer to the table below for
selecting applicable auto switches.

s |1
n

Cushion ® .
N [ Rubber bumper Single acting/Spring return
l ¢Cylinder stroke (mm) Single acting/Spring extend
_Bw Refer to p.1.7-21 for Standard
20 20mm Stroke Table.
25 25mm
32 32mm
40 40mm
Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.
5 Wiri Load voltage Lead wire (m)*
) : ical| ® Iring . Applicable
Style | Special function [Electrical| § Auto switch model N
entry |5| (output) D A 0.5 | 3| 5 [None|  |oag
2 c c O |O]@|N
3 wire
NeG || s | — C76 — e o | |c|—
5 —| — — — B53 ® & ® — | — |PC
rommet |Yes
< — | 200v — Bs4 | @ [@|@|—
.§ orless — B64 ® O — | —| —
@ . 12v 100V C73 - o (0 0 —
° 2 wire Relay
8 [No| 24V |5V, 12V[100V or less C80 — ® ® — || IC |p.c
« Connector |Yes v | — c73C — o oj0o[0 —
No 5V, 12V|24Vorless|  C80C — ® 00 0o C
Diagnostic indication (2 colour)l Grommet | Yes - — — B59W ® 0 — | —| —
2 wire 12v — K59 ® 0 O — | —
Grommet| 13 (NPN) SV 12V H7A1 G59 ® 0 O — |c
— 3 wire (PNP) ' H7A2 G5P ® 0 O —
< ) H7B — ® (0 O —
3} 2 wire 12v —
-‘é Connector H7C — (BN AN BN J
] 3 wire (NPN) H7NW G59W ® 0 O —
3 |Diagnostic indication Ves 3 wire (PP 24V [0V 1Y) — H7PW esw | @ |@ O|—| © | P
® (2 colour)
o ) H7BW K59W ® (0 O —
= 2 wire 12v —
& [Water resistant (2 colour)| Grommet H7BA G5BA — @O |—
With timer 3 wire (NPN) - G5NT — | @|O|—
5V, 12V IC
IDiagnostic output (2 colour) 4 wire H7NF G59F ® 0O —
Latch with diagnostic output NPN _ . N
(2 colour) ( ) H7LF ® (@0 O
* Lead wire length 0.5m------— e.9.) C73C  5m-e--e-e- z e.g.) C73CzZ
3meeeeenes L C73CL None-----N C73CN
+ Solid state switches marked with "O" are manufactured upon receipt of order.
1-7-20

O

SVC



Standard: Single Acting Spring Return/Extend Series CG1

Specifications

Action

Single acting/Spring return

Single acting/Spring extend

. Bore size (mm) 20, 25, 32, 40
d Lubrication Non-lube
: Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa

Min. operating pressure

0.18MPa \ 0.23MPa

. . ) Without auto switch: —10°C to +70°C (No freezing) C‘-”
Spring return Ambient and fluid temperature - - ) ——
With auto switch: —10°C to +60°C (No freezing) CJ P
gt Piston speed 50 to 1000mm/s L
L +1.4
3%.‘ J Stroke tolerance Up to 2007 ;"mm CJ2
o - - Thread tolerance JIS class 2 —
i J F Cushion Rubber bumper CM2
= {.1 A J Basic, Axial foot , Front flange, —
T Mounting Rear flange, Front trunnion, C85
= Rear trunnion, Clevis L
Spring extend (Used for changing the port location by 90° degrees.) C76
.
Accessories ——
Mounting Basic | Axial Front Rear Front Rear | clevis &
foot flange | flange | trunnion | trunnion W
Rod end nut o [ J ([ J o o o o L
Standard —
Clevis pin — — — — — — o CP95
JIS symbol Single knuckle joint o o (] ﬁ
Spring return Spring extend .| Double knuckle joint* D
Option (with pins) [ ([ o —
— AN C92
,\/\ Pivot bracket — — — — o o o —
l l * Pins and snap rings for double knuckle joint are included, not mounted. CA1
Stroke CS1
Made to Order Bore size -
L Standard stroke (mm) ()
(mm)
Refer to p.5.4-1 for made to order products 20 25, 50, 75, 100, 125
of series CG1. 25, 32, 40 25, 50, 75, 100, 125, 150, 200
Note 1) Other intermediate strokes can be manufactured
upon receipt of order. Spacers are not used for
the intermediate strokes.
Mounting Bracket Part No. Auto Switch Mounting Bracket Part No.
Mounting Bore size (mm) Auto switch Bore size (mm)
bracket 20 25 32 40 model 20 25 32 40
Axial foot™ CG-L020 CG-L025 CG-L032 CG-L040 D-C7-
xia1 100 C7.C8 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040
Flange CG-F020 CG-F025 CG-F032 CG-F040 D-H7
i i CG-T020 CG-T025 CG-T032 CG-T040 -B5.
Trunnion pin D-BS-B6 BA-01 BA-02 BA-32 BA-04
Clevis™* CG-D020 | CG-D025 | CG-D032 | CG-D040 D-G5-K5
Pivot bracket CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A

= Order two foot brackets per a cylinder.

+* Mounting bolts are attached for foot and flange styles, and clevis pins, snap rings

and mounting bolts for the clevis style.

/\ Precautions

ettt |

! Be sure to read before handling.

: Refer to p.0-39 to 0-43 for Safety Instructions

1 and common precautions.

I Refer to p.1.7-6 for precautions for series CG1.

(A switch mounting band is not attached. Please order the band separately.)

Q Note) A set of following stainless steel mounting screws is attached.

BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types

-"D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above

when shipped.

When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

2 S\VC

1-7-21



Series CG1

Weight (kg)
Spring return Spring extend
Bore size (mm) 20 25 32 40 Bore size (mm) 20 25 32 40
25st 0.17 0.27 0.40 0.63 25st 0.16 0.25 0.38 0.59
50st 0.19 0.30 0.45 0.71 50st 0.18 0.28 0.43 0.67
) 75st 0.26 0.40 0.58 0.91 ) 75st 0.24 0.37 0.54 0.83
Basic 100st 028 | 043 | 062 | 0.99 Basic 100st 026 | 0.40 | 058 | 0.91
weight weight
125st 0.35 0.53 0.76 1.20 125st 0.32 0.48 0.69 1.08
150st — 0.56 0.81 1.28 150st — 0.50 0.72 1.12
200st — 0.69 0.98 1.56 200st — 0.63 0.89 1.40
Axial foot 0.11 0.13 0.16 0.22 Axial foot 0.11 0.13 0.16 0.22
Mounting | Flange 0.08 | 0.10 | 0.14 | 0.20 Mounting | Flange 0.08 | 0.10 | 0.14 | 0.20
bracket bracket
weight Trunnion 0.01 0.02 0.03 0.05 weight Trunnion 0.01 0.02 0.03 0.05
Clevis 0.05 0.08 0.15 0.23 Clevis 0.05 0.08 0.15 0.23
Pivot bracket 0.08 0.09 0.17 0.25 Pivot bracket 0.08 0.09 0.17 0.25
Accessory | Single knuckle joint 0.05 0.09 0.09 0.10 Accessory | Single knuckle joint 0.05 0.09 0.09 0.10
Double knuckle joint (with pins) | 0.05 0.09 0.09 0.13 Double knuckle joint (with pins) | 0.05 0.09 0.09 0.13
Calculation example: CG1LN20-100S (Foot, 20, 100 stroke) Calculation example: CG1LN20-100T (Foot, 820, 100 stroke)
* Basic weight------ 0.28kg (920)  * Mounting bracket weight------0.11kg (Foot) * Basic weight------0.26kg (220) * Mounting bracket weight------0.11kg (Foot)
0.28+0.11=0.39g 0.28+0.11=0.39kg
Construction
Single acting/Spring return
0@
1)
L e |
Single acting/Spring
®
3
Component Parts
No. Description Material Note Replacement Parts: Single acting/Spring return
@ Rod cover Aluminum alloy White hard anodized L . Bore size (mm)/Part No.
- - - No.| Description |Material
@ Tube cover Aluminum alloy | White hard anodized 20 25 32 40
©) Piston Aluminum alloy Chromated @ Piston seal NBR | PPD-20 |PPD-25-19| PPD-32 | PPD-40
@ | Piston rod* Carbon steel Hard chrome plated Single acting/Spring extend (7 is the same as the spring return style.)
® Bushing Oil impregnated sintered alloy | @40 or larger: Lead bronze cast — . Bore size (mm)/Part No.
® Bumper A Urethane No.| Description |Material 20 25 32 20
@ Bumper B Urethane @ | Rodseal |NBR| PDU-8Z | PDU-10Z | PDU-12LZ | PDU-16Z
® | Snap ring Stainless steel CM-020- | CM-025- | CM-032- | CM-040-
© | Wearring Resin Tube gasket |NBR| o o3 | 16-124 | 16-126 | 16-127
Rod end nut Rolled steel Nickel plated
(D | Piston gasket NBR
() Return spring Steel wire Zinc chromated
(3 | Spring guide Aluminum alloy Chromated
Spring seat Aluminum alloy Chromated
(5 | Element Sintered metal BC
@ | Snap ring Steel wire

Note) A rubber magnet is equipped on the piston of the cylinder with auto switch.
# The material is stainless steel on auto switch equipped styles 20 and 925.

1-7-22

O



Standard: Single Acting Spring Return/Extend Series CG1

Auto Switch Mounting Position and Mounting Height

D-C7, D-C8
8.5

Auto switch

D-G5, D-K5, D-G500W, D-G5BAL
D-K59W, D-G59F, D-G5NTL

12 Auto switch
i ‘ il
==K =% D
i I
A |26 LAl 33 R
D-H7, D-H7CW D-C73C, D-C80C
D-H7CF, D-H7BAL g5 Auto switch
Auto switch ,7'-
85 ‘ 1
Ty a
1——} i ‘¥ E:Eﬂl Q ;T‘JT_%
i I - A [ 36.7]1
A _ 29 U B
(36) ().DH7LF
D-B5, D-B6, D-B59W D-H7C
12 Auto switch 5 Auto switch
[l T . ‘
= o B
L M O SECE S ,
AL 33 4 18] [ Al382 _B)
Single acting/Spring return (mm) Single acting/Spring extend (mm)
Auto switch | Bore A B Hs Auto switch | Bore | A B Hs
model | size | 25 | 50 | 75 | 100 | 125 | 150 | 200 |Alstrokes model | size |Alstrokes| 25 | 50 | 75 | 100 | 125 | 150 | 200
D-C7 20 |55|55|80|80|105| — | — | 20.5 |24.5(27) D-C7 20 | 30 [45.5|45.5|70.570.5(955| — | — | 24.5(27)
D-C8 25 | 55|55 80|80 |105]130]130| 20.5 |27 (29.5) D-C8 25 | 30 |45.5|45.570.5|70.5|95.5) 1205 | 1205 | 27 (29.5)
D-C73C 32 |56 |56 81|81 [106]131]131| 21.5 |30.5 (33) D-C73C 32 | 31 |46.5/46.5\71.5/71.5/96.5 1215|1215 | 30.5 (33)
D-C80C 40 |60.5|60.5|85.5/85.5(1105|1355 | 1355 | 24 |35 (37.5) D-C80C 40 | 355 | 49 | 49 | 74 | 74 | 99 |124|124 | 35 (37.5)
20 |54 |54 |79|79|104] — | — | 19.5 |245(27.5) 20 | 29 [445|445(69.5(69.5(945 — | — [24.5(27.5)
D-H70 25 |54 |54 |79 |79 |104|129]129| 19.5 | 27 (30) D-H7O 25 | 29 |44.5|44.569.5]69.5|94.5 1195|1195 | 27 (30)
D-H7C 32 |55 |55|80|80|105|130]130| 20.5 |30.5 (33.5) D-H7C 32 | 30 [45.5|45.570.5|70.5|95.5| 1205 | 1205 [30.5 (33.5)
40 |59.5(59.5|84.5|84.5(1005(1345 | 1345 | 23 | 35 (38) 40 | 345 |48 |48 |73 | 73 | 98 123|123 | 35(38)
B:Bg 20 |49 |49 |74 |74|99 | —|—| 15 27.5 B:Bg 20 | 24 | 40|40 |65|65|90|—|— | 275
D-G50W | 25 |49 |49 |74 | 74|99 |124|124| 15 30 D-G50W | 25 | 24 |40 |40 |65|65|90|115/115] 30
D-K39W | 32 |50 |50 | 75|75 |100[125]125] 155 | 335 DKW | 32 | 25 [40.5|405[655(65.5(90.5 1155 ] 1155 | 33.5
D-G5BA 40 |54.5|54.5|79.5|79.5(1045| 1295 | 1205 | 18 38 D-G5BA 40 | 295 | 43|43 |68 |68 |93 |118|118| 38
D-G5 20 |50.5|50.5|75.5|75.5(1005| — | — | 16 | 27.5 D-GS5 20 | 255 |41 |41 |66 |66|91|—|—| 275
. 25 |50.5|50.5|75.5|75.5(1005] 1255 | 1255 | 16 30 D-K5 25 | 255 | 41|41 |66|66|91|116|116| 30
32 |51.5|51.5/76.5|76.5(1015] 1265 |1265| 17 | 335 32 | 265 |42 |42 |67 |67 |92 |117]|117| 335
D-G5NT D-G5NT
40 |56 |56 | 81 |81 |106|131|131| 195 | 38 40 | 31 [445|44.5(69.5(69.5|94.5|1195 1195 | 38
20 |52 |52 |77 |77|102]| — | —| 175 | 275 20 | 27 |425|425|67.5(67.5(925| — | — | 27.5
25 |52 |52 | 77|77 |102]127|127| 175 | 30 25 | 27 |425|425|67.567.5/92.5]1175|1175| 30
D-B59W D-B59W
32 |53|53|78|78[103]128|128] 185 | 335 32 | 28 |435|43.5(68.568.5/93.51185|1185| 33.5
40 |57.5|57.5/82.5|82.5(107.5| 1325 | 1325 | 21 38 40 | 325 |46 |46 | 71| 71| 96 | 121|121 38
D.H7Ow |20 |525|525|77.5(775/1025) — | — | 18 | 245 DH7Ow |29 | 27.5 |43 /4368|6893 | —|— | 245
- 25 |525(525|77.5|77.5(1025| 1275 | 1275 | 18 27 D-H7LF 25 | 275 | 43|43 |68 |68 |93|118|118| 27
D-H7BA 32 |53.5|53.5|78.5|78.5(1035|1285 |1285| 19 | 30.5 D-H7BA 32 | 285 |44 |44 |69|69|94|119(119] 305
40 |58 |58 |83|83|108]133]|133| 215 | 35 40 | 33 |46.5|46.5|71.5/71.5/96.5| 1215|1215 | 35
(): With connector ( ): With connector
% SMC 1-7-23

e




Series CG1

Basic

Spring return/CG1BN

GA Element installation RC(PT)P GB
Width
MM al across
flats B1
0 R [ ™
8 \ L] _ el 8
=2l 5L s — raales
w|® | U, &J w
e % S
T
AL
A K F||TA 4-TC B
H S + Stroke F 8-J
ZZ + Stroke
Spring extend/CG1BN
GA RC(PT)P GB
MM Hy  Width Element installation
e across
T flats Bt
/ o Wl )
™ [ 1y ___og
< [} _ s 7
_ o\ | I
g i e b B &
Q — I
AL \
A K FITA \ 4-TC 1
H + Stroke S + Stroke JLF
ZZ + 2 Stroke
Bore |Swokerangel | A | B1 | c | D | E| F |GA|GB| H |H| I J K | KA MM NA | P
(mm) (mm)
20 Upto125| 18 15.5 13 14 8 12 2 12 10 35 5 26 M4 Depth 7 5 6 M8 24 1/8
25 Upto200| 22 19.5 17 16.5 10 14 2 12 10 40 6 31 M5 Depth 7.5 5.5 8 M10 X 1.25 29 1/8
32 Upto200| 22 19.5 17 20 12 18 2 12 10 40 6 38 M5 Depth 8 55 10 M10X 1.25 | 35.5 | 1/8
40 Upto200| 30 27 19 26 16 25 2 13 10 50 8 47 M6 Depth 12 6 14 M14 X 1.5 44 1/8
Bore 1 to 50st 51 to 100st | 101 to 125st | 126 to 200st
(mm) A i C S Y74 S zZ S 2z S zZ
20 11 11 M5 94 131 119 | 156 | 144 | 181 — —
25 11 11 M6 X 0.75 94 136 | 119 161 144 | 186 169 | 211
32 11 10 M8 X 1.0 96 138 | 121 163 | 146 | 188 | 171 | 213
40 12 10 | M10X1.25 | 108 | 155 | 128 | 180 | 153 | 205 | 178 | 230
Note) The drawing below shows the single acting/spring return style.
Wlth Mountinq Bracket The rod is retracted in case of the spring extend style
Axial foot/CG1LN Axial foot (mm)
Bore |Stkerengel g |\ | Lo | D [LH | LT |WX|LZz|w|x|Y]|z
(mm) | (mm)
20 |Upto125| 34 | 3 4 6 |20 | 3 |32 |4 |10 |15 | 7 | 47
25 |Upto200|385| 35| 4 6 22| 3 (36|49 |10 15| 7 | 52
32 |Upto200| 45 | 35| 4 |66 | 25| 3 |44 | 58| 10| 16 | 8 | 53
T 40 |Upto200|545| 4 4 |66 |30 | 3 |54 |71 |10 |165| 85 |635
— Bore 1 to 50st | 51to 100st | 101 to 125st | 126 to 200st
= (mm) [Ls[zz|Ls[zz|Ls[zz[Ls[zz
Wi 2-6LC (Knock pin 20 70 |135| 95 | 160|120 | 185 | — | —
, [X —(—p—)—,_s + Stroke M 25 | 70 [1405] 95 |1655[ 120 [1905] 145 | 2155
7Z + Stroke 32 70 |1425] 95 [1675] 120 [1925] 145 [2175
40 76 | 160 | 101 | 185 | 126 | 210 | 151 | 235

1-7-24

O




Standard: Single Acting Spring Return/Extend Series CG1

With Mounting Bracket

Front flange/CG1FN (mm)
Bore size |Stroke range
F FT ) () B | E| F | FX | FD | FT
T 20 Upto 125 40 12 2 28 | 55 6
9 ] 25 Up to 200 44 14 2 32 | 55 7
] I il 32 Up to 200 53 | 18 2 38 | 66 | 7
T ]
w i — ]’ 40 Up to 200 61 25 2 46 6.6 8
+ End boss is machined on the flange for oE. C
Front flange (mm) —
Bore size zz CJP
(mm) |1 to 50st |51 to 100st|101 to 125st|126 to 200st —
20 131 156 181 — CJ2
Rear flange/CG1GN 25 136 161 186 211 e ——
32 138 163 188 213 CM2
4-5FD 40 155 180 205 230 "
o ‘ 8 Rear flange (mm) C85
S E i oo I—
1@;\@\ T Bore S|ze zz B
@__@) j%{ Q 1 to 50st [51 to 100st|101 to 125st|126 to 200st C76
o, 137 162 187 — L
r 25 143 168 193 218
OFX20.45 il F 32 145 170 195 220
0B ZZ + stroke 40 163 188 213 238
—HE— | MB
oy MBI
H Bore size [Stroke range|
Front trunnion/CG1UN o) | o | B | TDe8 | TE| TF| TH| TR TS| TT| TV|TW| TX | TY| T2 CP95
Bracket 20 |Upto125 |38 80025 10 55|25 (39|28 (3.2(358) 42| 16|28 476 [
- {gﬁg’;‘"‘g . 25 |Upto200 |455]10:3%25[ 10 |55 30 | 43 | 33 | 3.2|308| 42| 20 | 28 | 53 |C9H
gg T 32 |Upto200 | 54 [122338%( 10 | 6.6] 35 |545) 40 | 4.5|49.4| 48 | 22 | 28 |67.7 ———
- 5ls 40 |Upto200 |635]14=3 3] 10 [ 6.6] 40 [655] 49 | 4.5|584] 56 [ 30 | 30 [787 |(COQ2
”‘/“'h ‘:{l'a:,_T + Consists of pins, flat washer and hexagon socket head cap bolt. L —
Sy u| 1 Front trunnion (mm) CA1
| Bore size z 7z L
i L (mm) 1 to 50st |51 to 100st|101 to 125st|126 to 200st
~ p— 20 46 | 131 156 181 — CS1
77 + Stroke VA oTE +o 10 25 51 136 161 186 211
Z 32 51 138 163 188 213
« Clevis pins and snap rings are attached. 40 62 155 180 205 230
Rear trunnion/CG1TN Rear trunnion (mm)
Bracket Bore size | 1to 50st |51 to 100st | 101 to 125st | 126 to 200st
™ mounting (mm) Z|2z| 7|22\ Z |2Z| Z |ZZ
sla = L 20 |118 |139 | 143|164 |168 |189 | — | —
glo | 25 123 |144 | 148|169 173 |194 [198 | 219
Q|.E
ARSI T 32 126 |150 | 151|175 |176 | 200 | 201 | 225
! C) ;h / . . 40 143 171 | 168 [196 [193 | 221 | 218 | 246
ST '
] ; .
' Clevis (mm)
¥
X 4-0TF B"([ﬁrﬁ')ze S”"(knﬁnf;”ge B|CD|[CZ| L [RR|TE|TF| H |TT|TV
Pé oTE+0.10 Z + stroke
N2Eg 77 + stroke 20 Upto125 | 388 | 8 |29 | 14 | 11 | 10 [ 55 | 25 | 3.2 |35.8
25 Upto200 [455| 10 | 33 | 16 | 13 | 10 | 55 | 30 | 32 398
32 Upto200 | 54 | 12 | 40 | 20 | 15 | 10 | 66 | 35 | 45 |49.4
40 Upto200 (635| 14 | 49 | 22 | 18 | 10 | 6.6 | 40 | 45 [58.4
CIeVISICG1DN 1to 100st(10 1to 125st{126 to 200
1 to 50st |51 to 100st to 125st to 200st
&CD External H10  Bore size
mtematgs——/ _(mm) | "W XN\ T2 777777 22| 7 [22] 7 [2z
jgonTT 8-J RR 20 42 | 16 | 28 [43.4|143 |164 |168 [189 [193 214 | — | —
_]' 25 42 | 20 | 28 | 48 | 150 [171 |175 | 196 | 200 | 221 | 225 | 246
:@— - % 32 48 | 22 | 28 |59.4(156 [ 180 |181 | 205 | 206 | 230 | 231 | 255
lﬁzc i ol o L@ 40 56 | 30 | 30 [71.4]175 | 200 | 200 | 228 | 225 | 253 | 250 | 278
Eﬁl t{m T ¥'J//\ + Refer to p.1.7-11 for dimensions of the pivot bracket.
z _L/
ool Lol
[Ty
R TE+0'1 0 Z + stroke
TZ 2 0] 77 + stroke
4-0TF
(The above shows the case port location is changed by 90 degrees.)
1-7-25

O



Non-rotating Rod: Double Acting

Series CG1K

020, 925, 032, 940, 0650, 663

How to Order

Double acting Non-rotating rod

CG1K
CDG1K

With auto switchT

(magnet)

Mounting

25

100

T

I

I

25

100

B53

Basic

Axial foot

Front flange

Rear flange

Front trunnion

Rear tru

nnion

OHC|®m|r @

Clevis

+ Mounting brackets are

N

¢ Number of

auto switches
Auto switch = 2
Without auto switch S 1

(Built-in magnet) T?

+ Refer to the table below for

selecting applicable auto switches.

¢Stroke (mm)

Refer to p.1.7-27 for Standard

Stroke Table.

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

included, not mounted. 5 Load voltage Lead wire (m)* }
Style | Special function Electrical _8 Wiring At St et 05| 3| 5 INone Applicable
. t - I
Cushion * oy || ©Outpu) | DC He A |O|a|n]
N Rubber bumper 3 wire
i o (NpN) ||V — C76 = ®|® —|—|IC|—
Air cushion Yes
(240 to 263 only) — — B53 ® 00| — rC
5 Grommet| | 1oy | 200V — B54 00 —
. = _ No or less — B64 o0 —|—| —
[ ) ] —]
Z_OBO;'?)& _: E 2wire |24 100V C73 — o 00 —
Rl <omm 8 No 5V, 12V[100Vorless| 80 — ® o [—[ic|paay
25| 25mm C o v | — c73C — o |ojo0 —
32| 32mm omeCer g 5V, 12V[24voress|  c8soC — OO0
ﬂm& Diagnostic indication (2 colour)| Grommet | Yes| i —_— — B59W ® 0| —|—| —
50| 50mm swie MNP | H7A1 G59 IS
63 63mm L Grommet| |3 wire (PNP) ’ H7A2 G5P ® 0| O|—
H7B K59 ® |0 O|—
2 wi 12v —_
3.:3 Connector wre H7C — [ B JIK )
H 3 wire (NPN) H7NW G59W ® |0 O|—
; Diagnostic indication \ves| 3 Wire (PNP)| o4y 5V, 12v o H7PW G5PW ® |0 O|— Ic Relay
s (2 colour) e PLC
7] 2 wire 12V H7BW K59W ® |0 O|— .
% Water resistant (2 colour)| Grommet H7BA G5BA — | @|O|—
@ | with timer 3 wire (NPN) — G5NT | — |®@|O|—
5V, 12V IC
Diagnostic output (2 colour) 4 wire H7NF G59F ® |0 O|—
Latch with diagnostic output NPN J— N —_ | —
Poobur (NPN) H7LF ® |0 O
xLead wire length 0.5m----..— e.g.)C73C  5m-eeeenes z e.g.) C73CzZ
3m--- L C73CL None------N C73CN
«Solid state switches marked with "O" are manufactured upon receipt of order.
Mounting Bracket Part No. Auto Switch Mounting Bracket Part No.
Mounting Bore size (mm) Auto switch Bore size (mm)
bracket 20 25 32 40 50 63 model 20 25 32 40 50 63
Axial foot* CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 D-C7-C8
BMA2-020|BMA2-025|BMA2-032 [BMA2-040|BMA2-050 |BMA2-063
Flange CG-F020|CG-F025|CG-F032 | CG-F040 | CG-F050 | CG-F063 D-H7
Trunnion pin |CG-T020|CG-T025|CG-T032|CG-T040 | CG-T050 | CG-T063 D-B5-B6
— BA-01 BA-02 BA-32 BA-04 BA-05 BA-06
Clevis CG-D020|CG-D025|CG-D032|CG-D040|CG-D050|CG-D063 D-G5-K5
Pivot bracket | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A Note) A set of following stainless steel mounting screws is attached.

£

1-7-26

= Order two foot brackets per a cylinder.
+x Mounting bolts are attached for foot and flange styles, and clevis pins,
snap rings and mounting bolts for the clevis style.

O

(A switch mounting band is not attached. Please order the band separately.)
BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
-"D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above
when shipped.
When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

SVC



High non-rotating accuracy

2020, 925 +1°
232 +0.8°
240 to g63 +0.5°

High speed operation/Long life
Piston speed is between 50 and 500mm/s
and long life is expected.

Can operate without lubrication.

The same installation dimensions
as the standard cylinder.

Auto switches can also be
mounted.

It can be installed with auto switches to simplify
the detection of the stroke position of the cylinder.

-

Non-rotating Rod: Double Acting Series CG 1K

Specifications

Bore size (mm)

20 | 25 | 3 | 4 | s | e3

Action Double acting/Single rod
Lubrication Non-lube

Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.05MPa

Ambient and fluid temperature

Without auto switch: —10°C to +70°C (No freezing)

With auto switch: —10°C to +60°C (No freezing)

Piston speed

50 to 500mm/s

Thread tolerance JIS class 2

Stroke tolerance Up to 600 *5*mm

Cushion Rubber bumper, Air cushion (240 to 63 only)
Rod non-rotating accuracy +1° ‘ +0.8° +0.5°

Mounting

Basic, Axial foot, Front flange, Rear flange, Front trunnion,

Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.)

-
i ) J Accessories

@s® o5
'\ - N M i Basi Axial Front Rear Front Rear Clevi
h_ \ ounting 2810 foot flange flange | trunnion | trunnion Evs
-
P J B Rod end nut o o o o [ J [ ] ®
] \ Standard —
o ¥ g . .,l Clevis pin — — — — — — ([
L ™ Single knuckle joint (] o [ ]
av i 2 ' Double knuckle joint*
B Option (with ping) [ ] [ ] [ ]
Pivot bracket — — — — o (] (]
= Pins and snap rings for double knuckle joint are attached, not mounted.
JIS symbol
Stroke
“@__ Bore size (mm) Standard stroke (1) (mm) Long stroke (mm)
l l 20 25, 50, 75, 100, 125, 150, 200 —
25 —
32 —
20 25, 50, 75, 100, 125, 150, 200, 250, 300
order 301 to 500
-Made Made to Order
- 50/63 301 to 600
Note 1) Other intermediate strokes can be manufactured upon receipt of order. Spacers are not used for
Refer to p54'1 fOf' made to Q the intermediate strokes.
order products Of Series CG-] K. Note 2) The maximum limit is 1500 stroke, but the products that exceed the standard or the long stroke
limit are not guaranteed.
With auto switch
Auto switches can be mounted. Mounting position/
height is the same as the double acting/single
rod style. Refer to p.1.7-13.
1-7-27

O
Z

e




Series CG1K

(Foot, 220, 100 stroke)

« Cylinder stroke:«---- 100 stroke

0.21+0.05 X 100/50=0.31kg

Construction

Weight (kg) Copper Free
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 5 CG1K’ Mountin ‘N’ Bore slz H Strok
= Basic 0.10] 017 0.26] 0.41 ] 0.7 [ 1.07 0- S ore size oxe
-% Axial foot 0.21{0.30|0.42|0.63|1.25|1.79
s Flange 018027040 061111157 Copper free _ _ _
% - This cylinder eliminates any influences of copper ions or fluororesins on
8 Trunnion 0.11]0.1910.290.46 | 0.91 | 1.21 colour CRTs. Copper materials have been nickel plated or replaced with
Clevis 0.15/0.25|0.41/0.64[1.17|1.75 non-copper materials to prevent the generation of copper ions.
Pivot bracket 0.080.09|0.17 | 0.25| 0.44 | 0.80
Single knuckle joint 0.05(0.09|0.09|0.10 | 0.22 | 0.22 Specifications
Double knuckle joint (with pins)| 0.05|0.09 | 0.09 | 0.13 | 0.26 | 0.26 Bore size (mm) 220, 825, 832, 040, 650, 063
Additional weight by each 50 stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 Action Double acting
Additional weight by air cushion| — | — | — |0.02]0.03 | 0.03 Fluid Air
Additional weight by long stroke| — | — | — ]0.03/0.06|0.10 Max. operating pressure 1.0MPa
Calculation example: « Basic weight.---.-..... 0.21 (Foot, 20) Min. operating pressure 0.05MPa
CGIKLN20-100 « Additional weight:-----0.05/50 stroke Piston speed 50 to 500mm/s

Mounting

Basic, Axial foot,
Front trunnion, Rear trunnion, Clevis

Front flange, Rear flange,

(Used for changing the port location by 90°
degrees.)

With air cushion

Long stroke

® 12\15 19
\/

Component Parts

Long stroke

No. | Description Material Note No. | Description Material Note

(O | Rod cover Aluminum alloy White hard anodized (9 | Seal retainer Rolled steel | Nickel plated (Except for long stroke)
@ | Tube cover Aluminum alloy White hard anodized Cushion valve Rolled steel Electroless nickel plated

(3 | Piston Aluminum alloy |Chromated, Hard anodized (in case of air cushion) @ | valve retainer Rolled steel Electroless nickel plated

@ | Piston rod* Carbon steel Hard chrome plated @2 |Lock nut Carbon steel Nickel plated

(® | Non-rotating guide | Oil mpregnated sintered alloy (3 | Cushion seal NBR

® | Bumper Urethane Cushion seal holder | Aluminum alloy

@ | Wear ring Resin @ | Head cover Aluminum alloy White hard anodized

® | Rod end nut Rolled steel Nickel plated @ | Cylinder tube Aluminum alloy Hard anodized
Replacement Parts/With rubber bumper

No. Description Material Bore size (mm)/Part No. Z:Lie;é;us:i:: ;gtr;er: ff the

220 925 032 240 250 063 cylinder with auto switch.

@ Rod seal NBR $S-9X8k2Q | SS-11X10k2 | SS-12 SS-16S $8-208 §5-208 * z:eﬂ’;g‘ti’:é'; stainless steel
9 Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63

(&) Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129

With air cushion (Parts 7 to 19

are the same as rubber bumper style.)

) Valve seal NBR — — — Ofingod=X | O'ring 85.5 X 23.5 X o1
@ Valve retaining gasket NBR — — — Qa2 |0ring 07.4 X 05.8 X 00.8
1-7-28

O
2



Non-rotating Rod: Double Acting Series CG 1K

Basic
With rubber bumper/CG1KBN
020 to 063
GA 2-Rc(PT)P GB
MM H1  Width
across
flats B1
o N B 0 1[0 CJ1
1 1 — 1 1 O 1 I
o9 L Ve, S OCIS Z e ——
ME! = e - Ol w Q) CJP
| FanY e —
\ | X cu2
AL \ L —
A Fl|TA 4-TC 1B KA
H S + stroke F [0C=0.1 8-J %
ZZ + stroke NA 085
With air cushion/CG1KBA
240 to 063 C76

Width MM, WA =l r—ﬂWB
acf0ss =] GA GB
flats B1 9 MB
e —
8\ il = g - MB1
e DI — - B B f'\\/ —
Q= | ¢ 2 CP95
Ak C95
FITA \ 4-TC TB||_F (~an
H S + stroke C92
ZZ + stroke P
CA1
Bore [Stroke range —
(mm) (mm) A|AL|B1|C |D | E GA| GB |H [Hi| | J KA MM NA| P S TA| TB TC Y4 CS1

20 Up to 200| 18 {155/ 13|14 [9.2| 12
25 Up to 300| 22 [19.5| 17 (165 11 | 14
32 Up to 300| 22 {195/ 1720 (12|18

12| 10 [35] 5 |26] M4Depth7 |8 M8 [24|1/8] 69 [11] 11 M5 106
12| 10 [40] 6 [31] MsDepth75 [10[M10X1.25]29[1/8] 69 [11] 11 [M6X0.75] 111
12| 10 [40] 6 |38] M5Depthg |10[Mi0X1.25[355[1/8] 71 [11] 10 [M8X1.0| 113
40 [upto300(500)[ 30|27 [19[ 26 [16]25 13[10(13)[ 50| 8 [47]| M6 Depth 12 |14 [M14 X 1.5| 44 [1/8] 78 (87) [ 12 [10 (12) [ M10 X 1.25 | 130 (139)
50  |Upto300(600)| 3532 27 [ 32 [ 2030 14 [12(14)[58 [ 11]58] M8Depth16 |18 M18 X 1.5 55 [1/4] 90 (102) [ 13 [12 (13) [ M12X1.25 | 150 (162)
63  |Upo300(600) 35 |32 |27 382032 2 [14[12(14)[58 [ 11] 72| Mi0Depth1s |18 |M18 X 1.5] 69 [1/4]90(102) | 13 [12(13)| M14 X 1.5 | 150 (162)

Note 1) Dimensions for each mounting bracket are the same as those for CG1 standard or long stroke model. Refer to p.1.7-8 to 1.7-10. Also, refer to p.1.7-12 for auto switch equipped style.
Note 2) ( ): Long stroke

NININININ| T

With air cushion
(E::r:% P |wa| wB |wH|we
40 Rc(PT)1/8 | 16 | 15(16) | 33 | 20°

50 Re (PT)1/4 | 18 |17 (18) |40.5| 20°

63 Re (PT)1/4 | 18 | 17 (18) |47.5| 20°

Note) ( ): Long stroke

/\ Precautions

_____________________________________________________________________________________ d
’ Handling
Acautions To tighten, take precautions to prevent the tightening torque from being applied to
the non-rotating guide. /
(D Avoid using the air cylinder in such a way that rotational torque would be
applied to the piston rod.
@ |[f rotational torque is applied, the non-rotating guide will become deformed.
Refer to the table below for the allowable range of rotational torque. _
Allowable rotational torque 220 925/932 240/950/063
Nm . . .
[y 02 0.25 0.44 (@ To replace a rod seal, contact SMC. . o o
@ To screw a bracket or a nut onto the piston rod, make sure to retract the piston A rod seal could lead to an air leak, depending on the position in which it is fitted.
rod entirely, and place a wrench over the flat portion of the rod that protrudes. Therefore, make sure to contact SMC if a rod seal must be replaced.
1-7-29

O

SVC



Non-rotating Rod: Double Acting Double Rod

Series CGT1KW

020, 925, 032, 9640, 050, 663

How to Order

cGikw L] N [25100

T LT T 1

[P coGikw [L] N [25H{1001-{B53

. I I © Number of
With auto switch auto switches
(magnet) Auto switch — 2
. Without auto switch S 1
Non-rotating rod = (Built-in magnet) P B
+ Refer to the table below for
Double acting/Double rod e selecting applicable auto
switches.
Mounting e
B Basic
®
L Axial foot Stroke
F Front flange —l m —Refer to p.1.7-31 for
" Standard Stroke Table.
U Front trunnion
Note) Mounting brackets are Bore size
included, not mounted. EW
. 25| 25mm
Cushion 32 32mm
N [ Rubber bumper 40| 40mm
50 50mm
63 63mm
Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
I} Load voltage Lead wire (m)*
. . ical| © | Wiring g Applicable
Style| Special function |Eectrical| 8 Auto switch model | 0.5 | 3 | 5 |None|
t
entry E (output) DC AC O |O|@|n load
Swwe || sv | — | ct6 | — |@ |®—|-|iC|—
Yes N P B53 ® & ® — | — PC
< _ B54 [ N AN B
S L 1ov 200V
-'é Grommet No or less _ B64 o o —|—| —
7] - [Vac| —
B |Yes| o wire | aav 100V C73 — [ N BN ] Relay
o No 5V, 12V [100Vorless| C80 — ® & — —| IC |pC
- Yes v | __ | c73c | — | e |e|e|e| —
Connector—{
No 5V, 12V |24V orless| C80C — ® O 0 0 IC
Diagnostic indication _ o —|—|
(2 colour) Grommet | Yes — — B5ow | @
3 wire (NPN) H7A1 G59 ® (@0 O|—
- 5V, 12V IC
Grommet 3 wire (PNP) H7A2 G5P ® @ O|—
c o . H7B Ks9 | @ [@|O[—
S 2 wire 12v —_—
= Connector H7C e ® 0o o e
5 ) o 3 wire (NPN) SV 12V H7NW | G59W | @ |@|O|—
o |Diagnostic indication Swire (PNP) | 24V ) —_— H7PW G5PW e @ O — IC Relay
8 (2 colour) Yes PLC
7] ) H7BW K59W ® 0 O|—
ke - 2 wire 12v —_—
= Water resistant (2 colour) Grommet H7BA G5BA — | @|O|—
@) With timer 3 wire (NPN) SV 1oV J— G5NT — | ®@|O|— c
Diagnostic output (2 colour). 4vire ' H7NF G59F ® 0 O|—
Latch with di tic output
T vy | [ wir | — [elelo[-[—
* Lead wire length 0.5m-----.—  e.9.) C73C  5m---eeees z e.g.) C73Cz
3m-eeeeee C73CL None-----N C73CN

# Solid state switches marked with "O" are manufactured upon receipt of order.

1-7-30



Non-rotaing Rod: Double Acting Double Rod Series CG1KW

High non-rotating accuracy

220,925 —— =1°
932 ———— +0.8°
040 to 963 ——— +0.5°

High speed operation/Long life
Piston speed is between 50 and 500mm/s
and long life is expected.

Can operate without lubrication.

The same installation dimensions
as the standard cylinder.

Auto switches can also be
mounted.

It can be installed with auto switches to simplify
the detection of the stroke position of the
cylinder.

JIS symbol

&

I

A Precautions

| e |
1 Be sure to read before handling. 1
I Refer to p.0-39 to 0-46 for Safety 1
I'nstruction and common precautions.!
I Refer to p.1.7-6 for precautions on

! series CG1K. -

e o e e o

With Auto Switch

Auto switch can be mounted. Refer to
p.1.7-34 for details.

Specifications

Bore size (mm)

20 | 25 | 32 | 40

| 50 | 63

Action Double acting/Double rod
Lubrication Non-lube

Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.08MPa

) ) Without auto switch: —10°C to +70°C (No freezing) C\”
Ambient and fluid temperature
With auto switch: —10°C to +60°C (No freezing)
Piston speed 50 to 500mm/s CJ P
Thread tolerance JIS class 2 CJ2
Stroke tolerance up to 600 *54mm R
Cushion Rubber bumper CM2
Rod non-rotating accuracy +1° ‘ +0.8° +0.5° ——
Mounting Easic, Axia] foot, Front flange, 085
ront trunnion —
C76
Accessories PV
Mounting Basic | Axial foot ]!I::r)]gte trEr:(r)w?ct)n F
Standard | Rod end nut ([ (] [ ([ e
Single knuckle joint [ ] [ ] [ ] ([ MB1
Option | Double knuckle joint** (with pins) [ [ ] [ [ CP95
Pivot bracket — — — { 2o —
+ Pins and snap rings for double knuckle joint are included, not mounted. Cgs
Stroke P
Bore size (mm) Standard stroke (mm)® Long stroke (mm) 092
20 25, 50, 75, 100, 125, 150, 200 — CA1
25 — —
32 25, 50, 75, 100, 125, 150, 200, — ﬂ
40 250, 300 301 to 500
50/63 301 to 600

Note 1) Other intermediate strokes can be manufactured upon receipt of order. Spacers are not used for the

intermediate strokes.

Note 2) The maximum limit is 1500 stroke, but the products that exceed the standard or long stroke limit are not

guaranteed.

O
Z

1-7-31



Series CGT1KW

Weight (kg) Mounting Bracket Part No.
Bore size (mm) 20 ( 25 | 32 | 40 | 50 | 63 ’ Bore size (mm)
Mounting bracket
% Basic 0.13]0.22|0.33|0.55(1.02|1.37 20 25 32 40 50 63
'g Axial foot 0.2410.35/0.49/0.7711.50]2.09 Axial foot* CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063
kS Flange 021]/0.32/0.47/0.75/1.36]1.87 Flange CG-F020 | CG-F025 | CG-FO32 | CG-F040 | CG-F050 | CG-FO063
T - - - - - R
g Trunnion 0.14]0.24/0.36/0.60]1.16]1.51 runnion pin CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063
. ; CG-020 CG-025 CG-032 CG-040 CG-050 CG-063
Pivot bracket 0.08/0.090.17|0.25|0.44|0.80 Pivot bracket pyvell It valll sl Eotl Byl Esyre
Single knuckle joint 0.05(0.09(0.09|0.10|0.22|0.22 - Order two foot brackets per a cylinder.
Double knuckle joint (With pins) 0.05/0.09/0.09(0.13/0.26(0.26 =x Mounting bolts are attached for the foot style and the flange style.
iti i 0.07|0.10]0.13|0.23|0.34|0.38 . .
Additional weight by each 50 stroke Auto Switch Mounting Bracket Part No.
Calculation example: CG1KWLN32-100 (Foot, 232, 100 stroke) -
* Basic weight.------- 0.49 (Foot, 32) ¢ Cylinder stroke:------ 100 stroke Auto switch Bore size (mm)
* Additional weight------0.13/50 stroke 0.49+0.13 X 100/50=0.75kg model 20 25 32 40 50 63
D-C7.C8 BMA2 | BMA2 | BMA2 | BMA2 | BMA2 | BMA2
D-H7 -020 -025 -032 -040 -050 -063
D-B5-B6
——————— BA-01 BA-02 BA-32 BA-04 BA-05 BA-06
D-G5-K5

Construction

Note) A set of following stainless steel mounting screws is attached.

(A switch mounting band is not attached. Please order the band separately.)
BBAS3: D-B5/B6/G5 types

BBA4: D-C7/C8/H7 types
-"D-G5BAL" and "D-H7BAL" switches are set on the cylinder with the screws above when

shipped.

When a switch only is shipped, "BBA3" or "BBA4" screws are attached.

10®) @) 7@ 1)

e

A

@
P ~——
BN
N/
@20 1; 032
Component Parts
Description Material Note
Rod cover A Aluminum alloy White hard anodized
Rod cover B Aluminum alloy White hard anodized

Cylinder tube

Aluminum alloy

Hard anodized

Piston Aluminum alloy Chromated
Piston rod A Carbon steel” Hard chrome plated
Piston rod B Carbon steel™ Hard chrome plated

Non-rotating guide

QOil impregnated sintered alloy

SEICIEICICIEIEIEIEN:

Bushing Oil impregnated sintered alloy|40 or larger: Lead bronze cast
Bumper Urethane
Rod end nut Rolled steel

# The material is stainless steel for 220 to 932.
«+ The material is stainless steel on auto switch equipped style 820 and 225.
=+ A magnet is equipped on the piston of the cylinder with auto switch.

Replacement Parts/With rubber bumper

No. Description Material Bore size (mm)/Part No.
220 225 232 240 250 263
ai Rod seal A NBR PDU-8Z PDU-10Z PDU-12LZ PDU-16Z PDU-20Z
(@) Rod seal B NBR SS-9 X 8K2Q SS-11 X 10K2 SS-12 SS-16S SS-20S
@3 Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63
() Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 CM-063-16-129
1-7-32

O
2



Non-rotaing Rod: Double Acting Double Rod Series CG1KW

Basic CG1KWBN: With rubber bumper

Width across flats B1 GA 2-Tc (PT) P GA
MM\ _Hi o3 MM
|
g\ T T s|8
oo vy ——
SV e L fan) \
wlSy 10 S, < I
& P
‘\ [S] -
Width across CJ1
AL flats KA i
A 4-TC CJP
FILTA TA ||F : =
H S+stroke H+stroke NA CJ2
Z7Z+2 stroke —
CM2
Bore Stroke range C 85
(mm) (mm) A |AL | B1 ([OC| D |[DK| E F | GA | H1 | J K | KA | KB MM NA | P S
20 Upto200 | 18 |155|/ 13 | 14| 8 |92 | 12| 2 | 12| 5 | 26 M4 Depth 7 5 6 8 M8 24 | 1/8 | 77 C76
25 Upto300 | 22 [19.5| 17 |16.5| 10 | 11 | 14| 2 |12 | 6 | 31 M5Depth 7.5 | 55| 8 | 10 | MI0X1.25 | 29 | 1/8 | 77 g
32 Upto300 |22 [195| 17 |20 |12 |12 |18 | 2 |12 | 6 | 38 M5 Depth 8 55|10 | 10 | M10X1.25 |355| 1/8 | 79
40 Upto500 | 30 |27 | 19 [ 26 | 16 | 16 | 25 | 2 | 13 | 8 | 47 M6 Depth 12 6 |14 | 14 | M14X 15| 44 | 1/8| 87 ——
50 Upto600 | 35 |32 |27 | 32|20 |20 | 30| 2 | 14 | 11 | 58 M8 Depth 16 7 |18 | 18 | M18 X 1.5 | 55 | 1/4 |102 MB
63 Upto600 | 35|32 |27 |38 | 20| 20|32 | 2 | 14| 11| 72 M10 Depth 16 7 | 18 | 18 | M18X 1.5 | 69 | 1/4 |102
Note 1) Dimensions are the same as CG1W standard. Refer to p.1.7-19. MB1
(Bore) TA TC H 77 Note 2) Old number is made-to-order CG1:N:=-x-XC21. e —
mm
20 11 M5 35 | 147 CP95
25 11 M6 X 0.75 | 40 | 157
32 11 M8 X 1.0 40 | 159 C95
40 12 | M10X1.25| 50 | 187
50 13 [M12X1.25| 58 | 218 092
63 13 | M14X 1.5 | 58 | 218 CA1
/\ Precautions CSt

_____________________________________________________________________________________ 4
’ Handling \
ACautions To tighten, take precautions to prevent the tightening torque from
(DAvoid using the air cylinder in such a way that rotational torque being applied to the non-rotating guide.
would be applied to the piston rod.
e If rotational torque is applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy.
Refer to the table below for the approximate values of the allowable
range of rotational torque.
Allowable rotational torque 220 925/932 240/250/963
Nm
o) 02 - 025 044 (@To replace a rod seal, contact SMC.
@ To screw a bracket or a nut onto the piston rod, make sure to retract A rod seal could lead to an air leak, depending on the position in
the piston rod entirely, and place a wrench over the flat portion of the which it is fitted. Therefore, make sure to contact SMC if a rod seal
rod that protrudes. must be replaced.
1-7-33

O
Z



Series CDG1KW
Auto Switch Specifications

Refer to p.5.3-2 for details of the auto switch.

Applicable auto switch

AEjRN

; > Auto switch model Electrical entry (Function) Page
j - D-C7,C8 Grommet 53-9
"3: o e Reed D-C73C, C80C Connector 5.3-11
@ ALY switch D-B5, B6 Grommet 5.3-10
D-B59W Grommet (2 colour indicator) 5.3-25
D-H7O Grommet 5.3-29
D-H7OW Grommet (2 colour indicator) 5.3-42
D-H7LF Grommet (2 colour, Latch with diagnostic output)|  5.3-49
- D-H7NF Grommet (2 colour, Diagnostic output) 5.3-50
Aprecau‘tlons ) D-H7BAL Grommet (2 colour, Water resistant) 5.3-55
e —————— 1 ol D-H7C Connector 5.3-31
1 . 1 state
1 Be sure to read before handling. ! switch D-G5, K5 Grommet 5.3-30
| Refer to p.0-44 to 0-46 for Safety ! D-G500W, K59W Grommet (2 colour indicator) 5.3-43
| -
! Instruct-lons and common ! D-G59F Grommet (2 colour, Diagnostic output) 5.3-51
ILP_"EEa_u_t'_o_n_s; ________________ | D-G5NTL Grommet (With timer) 5.3-59
D-G5BAL Grommet (2 colour, Water resistant) 5.3-56
Auto Switch Mounting Position and Mounting Height
D-B5/B6 D-C7/C8 .
12 Auto switch =Hs 8.5 Auto switch =Hs
—=] 9) 5 IE ) o
] &4 0&% -
A |26 B
D-G5/K5/G5DW/G5BAL D-K59W/G59F/G5NT D-H7C ]
12 Auto switch =Hs 8.5 Auto switch
‘ i ‘ Trr 15 L :
= I ’ e 6 L9 = ‘
ﬁ‘ﬂP:TW{ stolEsd—ar— D ﬁ?ﬁl
— 1 L= (GRE a
i 38.2 1
Al 33 E A /
D-H7O/H70W/H7CF/H7BAL
85 Auto switch 8.5 Auto switch Hs
it ——r T ) .
E | B j
e == ol L
| - f
A 29 A [36.7]
( ): D-H7LF (36)
Auto Switch Mounting Height (mm)
Bore D-C7/D-C8 D-C73C/D-C80C D-B5/D-B6 D-B59W
(mm) A B Hs A B Hs A B Hs A B Hs
20 30 28.5 24.5 30 28.5 27 24 22.5 27 27 25.5 27.5
25 30 28.5 27 30 28.5 29.5 24 22.5 30 27 25.5 30
32 31 29.5 30.5 31 29.5 33 25 235 33.5 28 26.5 33.5
40 35.5 33 35 35.5 33 37.5 29.5 27 38 32.5 30 38
50 43 40.5 40.5 43 40.5 43 37 34.5 43.5 40 37.5 43.5
63 43 40.5 47.5 43 40.5 50 37 34.5 50.5 40 37.5 50.5
80 — — — — — — 46.5 45 59 49.5 48 59
100 — — — — — — 46.5 45 69.5 49.5 48 69.5
(mm)
H H D-G5 D-K5
Bore DHICw e, D-H70F DGEN  D-GSCOW D-G59F
(mm) A B Hs A B Hs A B Hs A B Hs
20 29 27.5 27 27.5 26 24.5 25.5 24 27.5 24 22.5 27.5
25 29 27.5 30 27.5 26 27 25.5 24 30 24 22.5 30
32 30 28.5 33 28.5 27 30.5 26.5 25 33.5 25 23.5 | 335
40 34.5 32 37.5 33 30.5 35 31 28.5 38 29.5 27 38
50 42 39.5 43 40.5 38 40.5 38.5 36 43.5 37 345 | 435
63 42 39.5 50 40.5 38 47.5 38.5 36 50.5 37 345 | 50.5
80 — — — — — — 48 46.5 59 46.5 45 59
100 — — — — — — 48 46.5 69.5 | 46.5 45 69.5
1-7-34



Direct Mount: Double Acting

Series CG1R

020, 925, 032, 940, 0650, 663

How to Order

Standard

C
CD

G1R

25

100

|

G1R

25

100

B53

With auto switchI ¢ Number of
(magnet) auto switches
. — 2
. Auto switch
Cushion - - ] 1
Without auto switch I
N Rubber bumper - (Built-in magnet) n n
A Air cushion = Refer to the table below for
selecting applicable auto
switches.

Bore size ®

20| 20mm ¢ Stroke (mm)

25| 25mm Refer to p.1.7-36 for Standard Stroke Table.

32| 32mm

40| 40mm

50| 50mm

63| 63mm

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
5 Load voltage Lead wire (m)*
q f ical| ®| Wiring . Applicable

Style | Special function [Electrical| § Auto switch model 05| 3 | 5 [None

entry E (output) DC AC O lolalm load
3 wire
(NPN) | 5V — C76 — ® @& —|—|IC|—
Yes — — B53 o |e/0|_| —|rcC
£ Grommet| _| 200V — B54 o 0 0 —

3} 12v

'§ & or less — B64 ® o — | — | —

7 — —

- E Swire |24V 100V C73 [ N AN J Relay

o No 5V, 12V[100V or less C80 — ® & —|—|IC |p¢

& comac™® v | — c73C — o eojo/o —

omeerNo 5V, 12V|2avorless|  csoC — NDIDOEE

Diagnostic indication (2 colour) | Grommet | Yes - — — B59W ® o — | —| —
3 wire (NPN) H7A1 G59 ® 0 O|—

- 5V, 12V IC
Grommet| |3 wire (PNP) H7A2 G5P ® |0 O —
H7B K59 ® o O —

2 wire 12v —

}cg Connector H7C — ® 0 0 e

2 3 wire (NPN) SV 12V H7NW G59W ® o O — c

% Diagnostic indication Yes|3 wire (PNP)| o4y ’ o H7PW G5PW ® 0 O|— Relay

S (2 colour) PLC

@ . H7BW K59W ® |0 O —

S 2 wire 12v -

5 [Water resistant (2 colour)| Grommet H7BA G5BA — @O |—

2 With timer 3 wire (NPN) — G5NT | — |@| O —
—] /1 |5v,12v Ic
Diagnostic output (2 colour) 4 wire H7NF G59F ® o O —

Latch with diagnostic output NPN _ - N
2 caloun (NPN) H7LF ® |0 O
* Lead wire length  0.5m-- e.g.)C73C  5m--eweeZ e.g.) C73CzZ
3m-eeeees C73CL None-----N C73CN

# Solid state switches marked with "O" are manufactured upon receipt of order.

O
Z

1-7-35

e




Series CG1R

Specifications
The CG1R Series direct mount cylinder Bore size (mm) 20 | 25 | s | 4 | so [ e
. . Action Double acting/Single rod

can be installed directly through the use brication Nomiube
of a square rod cover. Fluid Air

. . . Proof pressure 1.5MPa
Space SaVIng Conflguratlon Max. operating pressure 1.0MPa
Because it is directly mounted without Min. operating pressure 0.05MPa

using brackets, its overall length is shorter,
and its installation pitch can be made

smaller. Thus, the space that is required for
installation has been dramatically reduced.

- ’(nu
ri'-@: g
- _ = -7 -
@ 3 /-.// i -
a GQ- ﬁ .
is?f; il
JIS symbol

%] Made to order

Without auto switch: —10 to +70°C (No freezing)

Ambient and fluid temperature

With auto switch: —10 to +60°C (No freezing)

Piston speed

50 to 1000mm/s

Thread tolerance

JIS class 2

Stroke tolerance

up to 300 *"¢mm

Cushion Rubber bumper/Air cushion
Weight (kg)
Bore size (mm) 20 25 32 40 50 63
Basic weight 0.14 0.23 0.35 0.57 1.04 1.49
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pins) 0.05 0.09 0.09 0.13 0.26 0.26
Additional weight by each 50 stroke 0.05 0.07 0.09 0.15 0.22 0.26
Additional weight by air cushion 0.01 0.01 0.02 0.02 0.03 0.03
Calculation example: CG1RN32-100 « Basic weight:-+--+--- 0.35

(932, 100 stroke) « Additional weight:-----0.09/50 stroke
« Cylinder stroke:-------- 100 stroke

0.35+0.09 X 100/50=0.53kg

Refer to P.5.4-1 for made to order products of
series CG1R.

A Precautions

Accessories Stroke
Mounting Basic B?'r'ﬁrﬁi)ze Standard stroke™ (mm)
Standard | Rod end nut [ J
- — 20 25, 50, 75, 100, 125, 150

Single knuckle joint | @
Option — 25/32 |25, 50, 75, 100, 125, 150, 200

Double knuckle joint P

(with pins) ao/50/63 | 25> 59 75, 100, 125, 150,

200, 250, 300

* Pins and snap rings for double knuckle joint are
included, not mounted.

«Other intermediate strokes can be manufactured upon

receipt of order. Long strokes are not available.
Spacers are not used for the intermediate strokes.

fem_—_———— R Em o wmommowmo—y
1 Be sure to read before handling. 1
I Refer to p.0-39 to 0-43 for Safety 1
IInstruction and common precautions.!
I Refer to p-1.7-6 for precautions on

! series CG1K. -

L |

1-7-36

Auto Switch Mounting Bracket Part No.

Auto switch Bore size (mm)
model 20 25 32 40 50 63
%BMAZOZO BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063
D-B5/B6
———F—~--— BA-01 BA-02 BA-32 BA-04 BA-05 BA-06
D-G5/K5

Please order the band separately.)

Q Note) A set of following stainless steel mounting screws is attached. (A switch mounting band is not attached.

BBA3: D-B5/B6/G5 types

BBA4: D-C7/C8/H7 types

- "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.
When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

O
2



Clean Series

Direct Mount: Double Acting Series CG 1R

Copper Free

10-CG1RN ’ Bore size H Stroke ‘

Clean series (with relief port)
The rod portion of the actuator has a double seal construction, and a relief
port is provided to discharge the exhaust air directly outside of the clean room.

Thus, it can be used in a Class 100 clean room.

20-CG1R ’ Cushion H Bore size H Stroke

Copper free

This cylinder eliminates any influences of copper ions or fluororesins on colour
CRTs. Copper materials have been nickel plated or replaced with non-copper

materials to prevent the generation of copper ions.

Specifications Specifications —
Bore size (mm) 220, 925, 932, 040, 950, 63 Bore size (mm) 220, 925, 932, 040, 50, 863 CJ1
Action Double acting Action Double acting
Fluid Air Fluid Air CJ P
Max. operating pressure 1.0MPa Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa Min. operating pressure 0.05MPa CJ2
Cushion Rubber bumper Symbol N Rubber bumper

: P Cushion ymoo ahak L CM2
Piston speed 50 to 400mm/s Symbol A Air cushion
Relief port size M5 Piston speed 50 to 1000mm/s
* Auto switch can be mounted. * Auto switch can be mounted. C85
C76
MB1
Construction S——
Standard/Bottom mounting/With rubber bumper With air cushion —
C95
f AN Cc92

%. ,\x [ Lm

Component Parts

CA1

No. Description Material Note No. Description Material Note
® Rod cover Aluminum alloy White hard anodized @ Cushion ring A Brass
@ Tube cover Aluminum alloy White hard anodized ® Cushion ring B Brass 232 or larger: the same as ring A
® Piston Aluminum alloy Chromated () Seal retainer Rolled steel
@ Piston rod* Carbon steel Hard chrome plated ® Cushion valve Rolled steel Electroless nickel plated
® Bushing Oilimpregnated sintered alloy | @40 or larger: Lead bronze cast @ Valve retainer Rolled steel Electroless nickel plated
® Bumper A Urethane v Lock nut Carbon steel Nickel plated
@ Bumper B Urethane 040 or larger: the same as bumper A a8 Cushion seal A Urethane
® Snap ring Stainless steel () Cushion seal B Urethane
® Wear ring Resin @ | Cushion ring gasket A NBR
Y Rod end nut Rolled steel Nickel plated @) | Cushion ring gasket B NBR 032 or larger: the same as gasket A
W) Piston gasket NBR Note) A rubber magnet is equipped on the piston of the cylinder with auto switch.
* The material is stainless steel on auto switch equipped styles 820 and @25.
Replacement Parts/With rubber bumper
o . Bore size (mm)/Part No.
No. Description Material
220 025 232 240 250 263
@ Rod seal NBR PDU-8Z PDU-10Z PDU-12LZ PDU-16Z PDU-20Z PDU-20Z
@ Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63
2 Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129

With air cushion (Parts @ to ) are the same as rubber bumper style.)

@ Valve seal NBR Oring 94.5 X 2.5 X @1 O ring 85.5 X 3.5 X o1
2 Valve retaining gasket NBR O ring 6.4 X 5.2 X 90.6 O ring 97.4 X 5.8 X 90.8
1-7-37

O
Z

CS1



Series CG1R

Basic: Bottom Mounting

With rubber bumper/CG1RN

GA 2-RC(PT)P GB 2-0LD
X
MM H: Width Y
across
flats B1 0
T ™ ocli
| | ™ T [ I
\ HRIL 3 7] 4 L]k UFJ
| Q | | | |
o TF] BRI (©r o
= | B ] -
| [ [ =
| | | | |
| | | | |
AL
A K N
H S + Stroke F
ZZ + Stroke
With air cushion/CG1RA
A port WD
2-gLD
WA P WB A port
GA GB we
X P © y
MM 2 I
T T g I =
- _ e s %
Q | =
TR - ©r
(-
1
width  [=
across /e AR Y
flats B1 K N KA
H S + Stroke F LH
ZZ + Stroke oL
(mm)
e (el A |AL B | D|E |GA|GB|H [Hi| 1 |K[KA|OL| D |tH{X| MM [N [P [S|X|Y |2z
20 |Upto150 | 18 [155| 13 | 8 |12 |20 |10 |27 | 5 |26 | 5 | 6 [30.4|255095Dentn | 15| 18 | M8 |27 [1/8| 75 |38 | 11 (104
25 |Upto200 |22 [195( 17 |10 |14 [ 22 |10 | 82 | 6 |31 |55 | 8 [36.4|266011Denth | 18 | 22 IM10X 125/ 29 |1/8 | 77 | 44 | 12 [111
32 |Upto200 |22 [195| 17 | 12 | 18 | 26 | 10 | 32 38 | 55| 10 |42.4| #9014Depth | 21 | 24 \M10X1.25 33 |1/8 | 83 | 45 | 13 |117
40 |Upto300 |30 [27 [ 19 |16 | 25 [ 30 | 10 | 39 47 | 6 | 14 |52.4|811e175Denth | o5 | 32 \M14X1.5| 37 |1/8 | 94 | 55 | 16 |135
50 |Upto300 |35 |32 |27 |20 |30 |33 |12 |45 |11 |58 | 7 |18 |64.5| pi4020Depth | 33 | 41 |M18X15| 44 |1/4 (108 | 62 | 17 |155
63 |Upto300 |35 |32 |27 [20 |32 |39 |12 |45 |11 |72 | 7 | 18 |76.6|,2:5225Depth | 38 | 46 |M18X 15| 50 |1/4 (114 | 64 | 19 |161
With air cushion (mm)
e S""(‘ﬁﬁnﬁa)”ge P WA | WB | WC | WD | WH [ WHz| We
20 |Upto150 M5 20 | 15 | 85| 2 | 25 | 23 | 30°
25 | Upto200 M5 24 | 15 | 11 | 2 |275| 25 | 80°
32  |Upto200 |Rc(PT)1/8 | 28 | 15 |14.5| — |30.5|285| 25°
40  |Upto300 |Rc(PT)1/8 | 32 | 15 |185| — [355| 33 | 20°
50 |Upto300 |Rc(PT)1/4 | 85 | 17 | 22 | — |435|405| 20°
63 |Upto300 |Ro(PT)1/4 | 41 | 17 | 29 | — |49.5|47.5| 20°
1-7-38

O



Direct Mount: Double Acting Series CG 1R

Auto Switch Mounting Position and Mounting Height

D-C7 D-G5, D-K5
26 =Hs 33 =Hs
e X ¥ ! t i -t ¥ . ¢
] I , ! 1 U 0 ! % 9
EET“ |- EE—!F- & = N 5
' EARE B o cJ1
A 8.5 B CJ P
e D-C73C CJ2
29 S CM2
1 = o ' I i V1t : —
I 0 ! X 085
B F =BT -0 i
| ' C76
A 8.5 B A 8.5 B CG1
MB
- e MB1
R X X : 1 h ] ‘ CP95
T N 1 9__ =
S5 e F C95
Al |12 B C92
A 8.5 B
CA1
CS1
Auto Switch Mounting Position Mounting Height (mm)
i D-C7,C8 D-B5,B6 D-G5NTL
D-B5, B6 D-H70 D-B59W D-G59F
model ’ D-H7OW D-G5 H
Dtrae conc| SN KW b gsow | DHPH | D-H7OF | DKs D-H7OW D-C13C  |p-65,Kk5 D-GSBAL
’ e D-H7BAL | D-G5NTL D-H7CF D-G500W
D-H7BAL D-K59W
Bore size A B A B A B A B A B A B Hs HS HS
20 9 20.5 3 14.5 6 17.5 8 19.5| 6.5 18 4.5 16 24.5 27 27.5
25 9 20.5 3 14.5 6 17.5 8 19.5| 6.5 18 4.5 16 27 29.5 30
32 10 | 215 4 15.5 7 18.5 9 205 75 19 55 17 30.5 33 33.5
40 145 | 24 8.5 18 (115 | 21 135 | 23 12 |21.5| 10 | 195 35 37.5 38
50 17 | 285 | 11 |225| 14 | 255 | 16 [275|145 | 26 |125| 24 40.5 43 43.5
63 17 [ 285 | 11 |225| 14 | 255 | 16 (275|145 | 26 |[125 | 24 47.5 50 50.5
1-7-39

O
Z



Direct Mount Non-rotating Rod: Double Acting

Series CG1KR

020, 925, 032, 940, 0650, 063
How to Order

T T

[T CDG1KRN

With auto switchI
(magnet)

Non-rotating rod

Cushion
N [ Rubber bumper

Note)Air cushion “CG1KRA”
is a made to order product.

25100

|

|

25—/100—B53

Auto switch

(Built-in

Without auto switch

magnet)

=Refer to the table below for
selecting applicable auto
switches.

b Stroke (mm)

—Refer to p.1.7-41
for Standerd Stroke

© Numbe

r of

auto switches

S
n

2
1
n

Bore size o Table.
20 20mm H F . . .
25| 25mm Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
32 32mm S Load voltage Lead wire (m)* Applicabl
I e es— Special Electrical| ©| Wiring Auto switch pplicable
40 | 40mm Style . o 053 |5\
e function ent tput model - one load
50| 50mm R et I O [O|@|m
63 63mm 3 wire
— (NPN) | — sv | — |C76| — | @® @|—|—|IC |—
Yes — | — |ess| @ [@]@[—[ —[PrcC
-g Grommet| | 12v 200V | — B54 | @ ©|@® | —
'§ [No| orless| — |Be4 | @ @|—|—| —
o Yes ) 12vi100v|(c73| — | @ @@ |—
° — 2 wire |24V Rela
e No 5V, 12V |100Vorkess| €80 | — | @ | @ | —|—| IC |
& comecor® 12v| —c7sc| — | @ (@ @@ —
onmeer N 5, 12v|avorkssjcsoc| — | @ (@ (@ | @] Ic
Diagn(ozsgglglﬂi)cation Grommet|Yes - R — |B59W . . =] —
3wire (NPN ® |0 O —
wwlr (NPN) 5V, 12v H7A1 | G59 I
Grommet| |3 wire (PNP) H7A2|G5P | @ (@ | O | —
H7B |[K59 | @ (@ | O|—
2 wire 12v —
S Connector H7C| — | ©® @@
= . —
o | Diagnosti indication sw‘-re(NPN) SV, 12v HINW |GSOW! @ 1@ | O IC
@ | Diagnostic indicatio Ves| 3 Wie (PNP)| 241/ _ |H7PW|G5PW| @ | @ | O | — Relay
S (2 colour) PLC
@ 2 wire oy H7BW K5ow| @ (@ |O | —|
2| Wesnase™ | Grommet H7BA|G5BA| — |@ | O [ —
@ | with timer 3vire (NPN) — |gsNT| — (@O =
Diagnostic output 5V,12V H7NF |G59F . . O _ IC
(2 colour) 4 wire 59
Lalchwi\hd\c%g‘;gjvs’t\cou\put (NPN) _ H7LE | — . . O _ _
+ Lead wire length  0.5m-..-..—  e.g.) C73C, 5m-eeee Z e.g.) C73Cz,
3Meeeeenees L C73CL None---N C73CN
# Solid state switches marked with "O" are manufactured upon receipt of order.
Auto Switch Mounting Bracket Part No.
Auto switch Bore size (mm)
model 20 25 32 40 50 63
D-C7/C8
D-H7 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063
D-B5/B6
BA-01 BA-02 BA-32 BA-04 BA-05 BA-06
D-G5/K5

1-7-40

Please order the band separately.)

Q Note) A set of following stainless steel mounting screws is attached. (A switch mounting band is not attached.

BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
- "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.

When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

& S\C



Direct Mount Non-rotating Rod: Double Acting Series CG 1KR

The CG1R Series direct mount

cylinder can be installed directly

through the use of a square rod

cover.

Space saving configuration
Because it is directly mounted without
using brackets, its overall length is shorter,
and its installation pitch can be made
smaller. Thus, the space that is required for
installation has been dramatically reduced.

a‘i"‘i; / l >

=

L]
it ."

\

IIII|

JIS symbol

&

Specifications
Bore size (mm) 20 [ 25 | 32 [ 4 [ s0 [ es3
Action Double acting/Single rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa
. . Without auto switch: —10°C to +70°C (No freezing) C‘-”
Ambient and fluid temperature - - - —
With auto switch: —10°C to +60°C (No freezing) CJP
Piston speed 50 to 500mm/s —
Stroke tolerance JIS class 2 CJ2
Thread tolerance up to 300*" 'Smm —
Cushion Rubber bumper CM2
Rod non-rotating accuracy +1° ‘ +0.8° +0.5° [
Weight k) |C76
Bore size (mm) 20 25 32 40 50 63 L
Basic weight 0.14 0.24 0.35 0.56 1.04 1.48
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pins) 0.05 0.09 0.09 0.13 0.26 0.26 MB
Additional weight by each 50 stroke 0.05 0.07 0.09 0.15 0.22 0.26 I
Calculation example: CG1KRN32-100 * Basic weight---+--+- 0.35 MB1
(232, 100 stroke)  » Additional weight:-----0.09/50 stroke
 Cylinder stroke::------ 100 stroke
0.35+0.09 X 100/50=0.53kg CP95
Stroke Accessories 7(: 95
Bczre si)ze Standard stroke* (mm) Mounting Basictype L
mm
Standard | Rod end nut [ ]
20 25, 50, 75, 100, 125, 150 . . C92
Single knuckle joint o —
25/32 25, 50, 75, 100, 125, 150, 200 Option Double Knuckle ioint
25, 50, 75, 100, 125, 150, ouble knuckle joint ° CA1
(with pins) —
40/50/63 200, 250, 300
’ > * Pins and snap rings for double knuckle joint are attached, CS1

+ Other intermediate strokes can be manufactured upon receipt not mounted.

of order. Long strokes are not available.
Spacers are not used for the intermediate strokes.

/\ Precautions

l Be sure to read before handling.
| Refer to p.0-39 to 0-46 for Safety Instruction and common precautions.
| Refer to p.1.7-6 for precautions on CG1K series.

’ Handling
/\Cautions

(D Avoid using the air cylinder in such a way that rotational torque would be applied
to the piston rod.

@ If rotational torque is applied, the non-rotating guide will become deformed, thus affecting the
non-rotating accuracy. Refer to the table below for the allowable range of rotational torque.

Allowable rotational torque 220 925/932 240/050/063
Nm 0.2 0.25 0.44

@ To screw a bracket or a nut onto the piston rod, make sure to retract the piston rod entirely, and
place a wrench over the flat portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-rotating guide.

(2) To replace a rod seal, contact SMC.
A rod seal could lead to an air leak, depending on the position in which it is fitted.
Therefore, make sure to contact SMC if a rod seal must be replaced.

1-7-41
ZSNC




Series CG1KR

Construction

Non-rotating rod/Bottom mounting
@@ ®aq2(

D

FL

L\ |
: : LI L
S T W 1L
I 1 I I
L Pl
® ®
I Il
L
220 to 032
Component Parts
No. Description Material Note
® Rod cover Aluminum alloy White hard anodized
@ Tube gasket Aluminum alloy White hard anodized
® | Piston Aluminum alloy Chromated
@ Piston rod* Carbon steel Hard chrome plated
® Non-rotating guide Oil impregnated sintered alloy
® Bushing Oil impregnated sintered alloy 220 to 232 only
@ Rod end nut Rolled steel Nickel plated = The material is stainless steel for 20, 825. and 932
Bumper Urethane
©® | Wearring Resin
Replacement Parts
Bore size (mm)/Part No.
No. Description Material
i ' 020 025 032 240 050 063
Rod seal NBR SS-9 X 8K2Q | SS-11 X 10K2 SS-12 SS-16S SS-20S
a Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63
(2 | Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129

Basic/Bottom mounting: CG1KRN

GA 2-RC(PT)P GB
X 2-gLD
mm_ [ _Hi Widh |y
™ across
\ flats B1 8
: °o%
L i ul |
= — i s !
nal I z&ig I
! ]
|
| : | 3
! ! L
AL
A N
H S + Stroke J F
- ZZ + Stroke
(mm)
Bore | Stroke range
(mm) (mm) A |AL|B1 |D | E |[GA|GB|H [Hi | | |[KA| L LD LH | LX MM N|P|S|X]|Y|zz
20 Upto 150 | 18 [15.5/ 13 |9.2 |12 [20 |10 |27 | 5 |26 | 8 |30.4 955 09.5Depthof counterbores| 15 | 18 M8 27 [1/8| 75|38 | 11 [104
25 Upto200 | 22 [19.5[ 17 |11 |14 [22 |10 |32 | 6 | 31 | 10 |36.4 | 966 011 Deptof counterbore7 | 18 | 22 [M10 X 1.25| 29 | 1/8 | 77 | 44 | 12 [111
32 Upto200 | 22 [19.5/ 17 |12 | 18 [26 |10 [ 32 | 6 |38 | 10 |42.4 |09, 014 Depthof counterbored| 21 | 24 |M10 X 1.25| 33 | 1/8 | 83 | 45 | 13 [117
40 Upto300 |30 |27 |19 |16 |25 |30 |10 [ 39 | 8 |47 | 14 |52.4 |o11,0175Depthof counterboret2) 26 | 32 |[M14 X 1.5| 37 | 1/8 | 94 | 55 | 16 [135
50 Upto300 |35 |32 |27 |20 |30 |33 |12 |45 | 11 | 58 | 18 |64.5 [o14,020 Depthof counterboreld 32 | 41 [M18 X 1.5| 44 | 1/4 [108| 62 | 17 |155
63 Upto300 |35 |32 |27 |20 |32 |39 |12 |45 | 11 | 72 | 18 |76.6 |018 026 Depthof counterboret8| 38 | 46 |M18 X 1.5| 50 | 1/4 [114| 64 | 19 | 161

Auto switch mounting position is the same as that on p.1.7-39.

1-7-42



Low Friction: Double Acting Single rod

Series CG1

020, 025, 032, 940, 050, 663, 980, 6100

How to Order

With auto switch
(magnet)

Mounting &——

Basic

Axial foot

Front flange

Rear flange

Front trunnion

Rear trunnion

Clevis

+ Not available for bore sizes
280 and ¢100.
+x Mounting brackets are
included, not mounted.

25

100

|

0 —O

25

100

B53

l * Number of
Auto switch auto switches
Without auto switch =1 2
(Built-in magnet) S 1
L. * Refer to the table below for selecting n n
Low friction applicable auto switches.
Bore size ¢ Low friction directi
_20 —20mm —e L OW Triction I|rec ion .
25| 25mm F |When pressur!zed on head.5|de
“32| 3z2mm B | When pressurized on rod side
40| 40mm
50| 50mm .
63| 63mm ¢ Cylinder stroke
80| 80mm Refer to p.1.7-44 for
100| 100mm Standard Stroke Table.
Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
— 5 o Load voltage Auto switch model Lead wire (m)*
pecial Electrical | & iring : " Applicable
Style function entry £ (Output) DG 6 Applicable bore size 05 | 3| 5 [Nonel o
= 220 t0 263 | 20t0 2100 | () [(L)|(2) [(N)
(SN";’,',(IE) —| sv — c76 — e @ —|—|ic|—
Yes — — B53 e @/ | —|[rc
e Grommet 12V | 500y — B54 00 —
= _ No or less — B64 ® 0| |—| —
2] —_— —
2 Yes owire | 24v 12V 100V C73 o 00 Relay
8 No 5V, 12V|100Vorless €80 — ® ®|—|—|IC |pc
o Yes 12V — C73C — o 0|00 —
IConnector
No 5V, 12V|24Vorless|  C80C — ® 0|00 C
Diagnostic indication(2 colour)| Grommet | Yes — — — B59W ® 0| —|—| —
3 wire (NPN) 5V 12v H7A1 G59 ® |0 O|— c
L Grommet 3 wire (PNP) ’ H7A2 G5P ® |0 O|—
H7B K59 ® 0 O|—
2 wi 12V —
ﬁ Connector e H7C — [ N BN BN J
£ . —
° Diagnostic indication 3Wffe (A 5v, 12v HINW o9W e 9© IC
8 9 Yes | 3 wire (PNP) | o4y — H7PW G5PW | @ (@O |— Relay
] (2 colour) PLC
© ) H7BW K59W ® (0 O —
o - 2 wire 12v —_—
5 Water resistant (2 colour) | Grommet H7BA G5BA — | @|O|—
@ With timer 3 wire (NPN) v 12y — G5NT — | @|O|— A
D o 4 wire : H7NF GsoF | @ (@O —
Latch with diagnostic output — _ — | —
(2 colou) (NPN) H7LF ® @00
* Lead wire length 0.5m----.— e.g.) C73C  5m-eeeevee Z e.g.) C73Cz
3meeeene L C73CL None---+-N C73CN

* Solid state switches marked with "O" are manufactured upon receipt of order.

O

e

1-7-43



Series CG100Q

Application Example

Designed with a low sliding resistance of the A low friction cylinder is used in combination with a precision regulator (IR Series, etc.).
piston, this air cylinder is ideal for applications @ Even if the external @ Even if there is any change
. diameter of the winding in the shape of the moving
such as contact pressure control, which Winding roller  roller changes, the object, the changes in the f
. Drive roller changes in the pressing : value of the cylinder's
requires smooth movements at low pressures. ( 5 Procs force against the drive “rgson | Pressing force are kept
rergs;esaltgrr] roller are kept small. regulator small, resulting in a stable

pressing force.

Low sliding resistance

Stable sliding resistance
The sliding resistance remains stable even

1

(Moving object)

when the operating pressure changes. -,
Long strokes can be manufactured.
Auto switches can be mounted.  Specifications
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Action Double acting/Single rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa

Min. operating pressure 0.025MPa 0.01MPa

. . Without auto switch: —10°C to +70°C (No freezing)
Ambient and fluid temperature

With auto switch: —10°C to +60°C (No freezing)

JIS symbol Piston speed 500mm/s
Stroke tolerance up to 700*"$mm
| ] Cushion None Rubber bumper

Basic, Axial foot, Front flange, Rear flange,
Mounting Front trunnion, Rear trunnion, Clevis
(Used for changing the port location by 90 degrees.)

Low friction direction One direction (Refer to "Selection of the direction".)

A Precautions Allowable leakage 0.5 ¢ /min (ANR) or less

Lkl | + Long stroke applies to the axial foot type and the front flange type.
1 Be sure to read before handling 1 Front/Rear trunnion types are not available for bore sizes 880 and #100.

1 Refer to p.0-39 to 0-43 for Safety 1
I Instruction and common precautions. 1
I Refer to p.1.7-6 for precautions I Accessories
I on series CG1. 1
N | Mountin Basic | Axial | Front Rear | Front | Rear Clevis
9 foot | flange | flange |trunnion|trunnion
’ Handli ‘ Standard Rod end nut [ ([ J o ([ [ (] ]
andling andar Clevis pin - - - - - - )
/\ Warning Singeknuckejont| ® | ® | ®© | ®© | ®© | ® | ®
(@ In the direction of low friction operation, ) Double knuckle ioint™
speed control must be effected through Option (with pins) J [ ] o ([ (] [ ® ()
the meter-in system. - - m
With meter-out control, the exhaust pressure Pivot bracket - — - — ([ B [ ] o
will increase and create a greater sliding * There are no pivot brackets for bore size 80 and 2100.
resistance. «# Pins and snap rings for double knuckle joint are included, not mounted.
With auto switch
Stroke Table
Auto switches can be mounted. Mounting -
position/height is the same as the double Bore size (mm) Standard stroke (mm) () Long stroke (2) (mm)
acting/single rod style. Refer to p.1.7-12 and 1.7- 20 25, 50, 75, 100, 125, 150, 200 201 to 350
13. 25 301 to 400
. 32 301 to 450
Mounting Bracket Part No.
40 25, 50, 75, 100, 125, 150, 200 301 to 500
Refer to p.1.7-45 for other mounting brackets. 50/63 250, 300 301 to 600
80 301 to 700
Auto Switch Mounting Bracket Part No. 100 301 to 700

Refer to p.1.7-45 for part number of the switch Note 2) The longer the stroke, the greater the sliding resistance could become, due to the sagging of the piston rod.
mounting band for adding auto switches on Therefore, consider installing a guide for such operation.
built-in magnet cylinders. Note 3) Contact SMC for applications that exceed the stroke range shown above.

(The maximum manufacturable stroke is 1500mm.)

SVC

Q Note 1) Other intermediate strokes can be manufactured upon receipt of order. Refer to p.1.7-46 for dimensions.

1-7-44

O



Low Friction: Double Acting Single Rod Series CG 1|:| Q

Sliding Resistance of the Low Friction Side Weight (mm)
0.025 025 | 320 Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
= Basic 0.11 | 0.18 | 0.28 | 0.44 | 0.83 | 1.17 | 2.23 | 3.43
0.02 — — 2 Axial foot 0.22 | 0.31 | 0.44 | 0.66 | 1.31 | 1.89 | 3.19 | 5.18
—_ L—T | —] )
g 1] 032 : Flange 0.19 [ 0.28 | 0.42 | 0.64 | 1.17 | 1.67 | 2.94 | 4.78
?, / 950 | 540 [ Trunnion 0.12 | 020 | 0.31 | 049 | 097 | 1.31 | — —
§ /¢ a Clevis 0.16 | 0.26 | 0.43 | 0.67 | 1.23 | 1.85 | 2.94 | 4.71
3 == | |° Pivot bracket 0.08 [ 0.09 | 0.17 [ 0.25 [ 0.44 | 0.80 | 0.98 | 1.75
R /7 - = Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57
£ 4// 9 Double knuckle joint (with pins) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31 CJ1
% // Additional weight by each 50 stroke | 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49 L
— Calculation example: CG1LQ20-100B * Basic weight.«--.eer 0.22 (Foot, 820) CJ P
(Foot, 820, 100 stroke)  Additional weight------0.05/50 stroke
0 01 02 03 04 05 06 07 * Cylinder stroke- -100 stroke —
Operating pressure (MPa) 0.22+0.05 X 100/50=0.32kg CJ2
* Conversion into the cylinder operating pressure: . —
Mounting Bracket Part No. (mm) CM2
: T : : Mounting Bore size (mm) e
lecting the Low Friction Direction
Selecting the Low Friction Directio bracket | 20 [ 25 [ 32 | 40 [ 50 [ 63 | 80 | 100 C85
(@ To use the air cylinder as a balancer, Axial foot™ | CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100 —
pressurize it only from one of the ports as Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100 C76
shown in the application example, and Trunnion CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 — —_
keep the other port open to the Clevis™*  |CG-D020 |CG-D025 | CG-D032 | CG-D040 | CG-D050 | CG-D063 | CG-D080 | CG-D100
atmosphere. Pivot bracket |CG-020-24A | CG-025-24A| CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A| CG-080-24A | CG-100-24A —
To operate by applying pr_es_sure _from_ * Order two foot brackets per cylinder. MB
the rod cover port: Low friction direction «# Clevis pins, snap rings and mounting bolts are attached for the clevis style. —
B type <Application example (D> ##+ Mounting bolts are attached for the foot style and the flange style. MB1
To operate by applying pressure from the
head cover port: Low friction direction F Auto Switch Mounting Bracket Part No. (mm) CP95
type <Application example @> - 5 -
In either case, if the piston rod is moved Auto switch oI S (i) —
by an external force, it will effect low e 20 25 32 40 50 63 80 100 C95
icti i i i D-C7/C8 —
friction operation both in the extending D-C7IC8 |5, p0.020 | Bun2-025 | BMAz-032 | BA2-040 | BMAZ 050 | BMAZ0B3|  — —
and retracting directions. D-H7 Cc92
(2 When it is necessary to operate it as an D-B5/B6 L
ordinary double acting cylinder at an even D-G5/K5 | BA01 | BA-02 | BA-32 | BA-04 | BA-05 | BA-O6 | BA-08 | BA-10 CA1
lower operating speeds, use a low speed - - - .
. " " Note 1) A set of following stainless steel mounting screws is attached. —
cyllnder (See Made to Order" on Page Q (A switch mounting band is not attached. Please order the band separately.)
SPECIALS-1). BBA3: D-B5/B6/G5 types CS1
BBA4: D-C7/C8/H7 types —
"D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.
When a switch only is shipped, "BBA3" or "BBA4" screws are attached.
Note 2) The material is stainless steel on auto switch equipped styles 820 and 225.
1-7-45

O
Z



Series CG11Q

Construction

BD®

1

080, 9100

-, -‘.q\__]

@ @(R(S)@@@/)}sb

Component Parts

No. Description Material Note
: 1 | Rod cover Aluminum alloy White hard anodized
@ | Head cover Aluminum alloy White hard anodized
(3 | Cylinder tube Aluminum alloy Hard anodized
@ | Piston Aluminum alloy Chromated
® | Piston rod* Carbon steel Hard chrome plated
® | Bushing QOil impregnated sintered alloy | @40 or larger: Lead bronze cast
Wear ring Resin
(2 | Bumper Urethane
@3 | Snap ring Stainless steel
Rod end nut Rolled steel Nickel plated
(@5 | Piston gasket NBR
040 t0 0100 + The material is stainless steel on auto switch equipped styles 620 and 225.
Replacement Parts
No Description Material Bore size (mm)/Part No.
020 025 032 040 050 063 080 2100
@ | Piston seal NBR PDU-8Z PDU-10Z PDU-12LZ PDU-16Z PDU-20Z PDU-25Z PDU-30Z
® |Rod seal NBR |GY-20X11X4|GY-25X 16 X4 |GY-32X21 X5|GY-40X28X5|GY-50X 38 X5|GY-63 X 51 X5|GY-80 X 66 X 6|GY-100X 86 X 6
9 | Tube gasket NBR |CM-020-16-123|CM-025-16-124|CM-032-16-126|CM-040-16-127|CM-050-16-128| CM-063-16-129| CM-080-16-152| CM-100-16-153
@ | Back up O ring NBR | CM20-1552 | CM25-1553 |CG032-15-64685| CA40-1546 | CA50-1545 | CA63-1544 | CA80-1549 | CM100-1543
* A rubber magnet is equipped on the piston of the cylinder with auto switch.
Basic/CG1BQ
TA/TB cross section
Width GA 2-RC(PT)P GB
MM _Hi aeross
2-TC flats B /
8 T N
oo K1 Q
% Lé%I I 1 @ - -
ol
LTE A K| F[[TA 4-TC
TG | TF H S + Stroke
NA L ZZ + Stroke
TA/TB cross section (mm)
Boreisize Tc* TDHY | TE | TF | TG
(mm)
20 M5 8 0% | 4 |los |55
25 MeXx075 | 10*9% | 5 | 1 |65
32 MeX10 | 12%9% |55 | 1 |75
40 M10X1.25 | 14*308 | 6 |1.25] 85
50 Mi2x1.25 | 16*3%8 |75 | 2 | 10
63 M14x15 | 1870% [115| 3 [145
# Trunnion mounting taps with width across flats NA are not
attached for bore sizes 80 and 2100
(mm)
Bore Stroke range
(mm) (mm) A|AL[Bi|C | D|E |F |GA|[GB| H |Hi| I J K|KA| MM [NA|P | S |TA|TB |ZZ
20 Up to 350 18 |15.5| 13 | 14 8 | 12 2 12 |12 | 35 5 | 26 M4 Depth 7 6 M8 24 (1/8 | 77 | 11 | 11 |114
25 Up to 400 22 [19.5| 17 |16.5] 10 | 14 | 2 12 |12 |40 | 6 | 31 M5Depth75 |5.5| 8 [MI0X125 29 [1/8 | 77 | 11 | 11 |119
32 Up to 450 22 [195{13 |20 |12 |18 | 2 |12 |12 |40 | 6 | 38 M5 Depth 8 5.5| 10 |[M10X1.25/35.5/1/8 | 79 | 11 | 11 [121
40 Up to 800 30 |27 |19 |26 | 16 |25 | 2 |13 |13 |50 | 8 | 47 M6 Depth 12 6 | 14 [M14X15| 44 |1/8 | 87 | 12 | 12 [139
50 Upto1200 |35 |32 |27 |32 | 20|30 | 2 |14 |14 |58 | 11 | 58 M8 Depth 16 7 | 18 [M18X15| 55 |1/4 [102 | 13 | 13 [162
63 Upto1200 |35 |32 |27 |38 | 20|32 | 2 |14 |14 |58 |11 |72 M10 Depth 16 7 | 18 [M18X 15| 69 |1/4 [102 | 13 | 13 [162
80 Upto1400 |40 | 37 |32 |50 [ 25 |40 | 3 |20 |20 |71 |13 | 89 M10Depth22 | 10 | 22 [M22X 15| 80 [3/8 |[122 | — | — [196
100 Upto1500 | 40 | 37 |41 |60 | 30 |50 | 3 |20 |20 |71 | 16 |110 M12 Depth 22 10 | 26 |[M26X1.5/100|1/2 [122| — | — |196
1-7-46



Low Friction: Double Acting Single Rod Series CG 1|:| Q

With Mounting Bracket

Axial foot/CG1LQ

VR kBl 7 4] Y
: & e
- O T e\ 3 /
= : j ! t
w] N___2elC W /
X__LY_| (Knock pin position) Y. -X_:l M
L Z - LS + stroke 4-0LD/ LX
_ZZ + stroke L LZ
Front flange/CG1FQ
FFT
T 4-0FD
8 i
oo el NE _
W, B A
- |
[JFX+0.15
B -
Rear flange/CG1GQ
4-0FD
SEa ~ o5
|
| [JFX*0.15 |l
Li’—], - ZZ + stroke
Front trunnion/CG1UQ
- TR
TS | Bracket mounting range
EE k3
=IO
Thon Sl e
' alz
B )
\S=/N| ! .
| T
=1 =
)_'
‘ 1
‘ .4-0TF
. ZZ + stroke . NQTES™
Rear trunnion/CG1TQ
Bracket
_TR mounting

range

_Z+stroke
ZZ + stroke

Axial foot (mm)
(E:;’r'ne) B |LC|LD|LH| LS [LT|[LX|LZ|M|W | X |Y Wzithout[m T bfozt
20 [34|4|6(20| 53 |3[32|44|3|10[15]|7 47 118
25 [385/4|6|22| 53 |3[36/49(35/10|15|7 52 123.5
32 |45|4|66/25| 53 | 3|44|58(35/10| 168 53 125.5
40 [545/4/6.6(30| 60 |3|54|71|4|10[165/85] 635 144
50 [705/5|9(40| 67 |45|66)86|5|17.5/22|11] 755 169.5 P
63 (8255 [11/45| 67 |45|82|106|5|17.5| 22 [18] 75.5 169.5 CJ1
80 [101]6|11]55| 74 [45/100|125|5 | 20 | 285 |14 95 202.5 —
100 [121]6[14]65) 74 |6|120{150/7|20[30[16] 95 206 CJP
CJ2
Flange mm) [ap12
Rear flange —
5:;?) Stroke range B|E|F |FX|FD|FT V4 ° a
Front Rear Without rod boot
20 |Upto350|Upto200| 40 | 12 | 2 | 28 |55]| 6 120 —
25  |Upto400|Upto300| 44 | 14 | 2 | 32 | 65| 7 126 C76
32  |Upto450{Upto300| 53 | 18 | 2 | 38 | 66| 7 128 —
40 Up to 800|Upto500| 61 | 25 | 2 | 46 | 6.6 | 8 147
50 Upto 1200{ Upto600| 76 [ 30 | 2 |58 | 9 | 9 171
63 Upto 1200 Upto600| 92 | 32 | 2 | 70 | 11| 9 171 MB
80 Upto 1400{Upto 750|104 | 40 | 3 | 82 | 11 | 11 207
100 |Upto1500|Upto750(128| 50 | 3 |100| 14 | 14 210 —
Note) End boss is machined on the flange for oE. MB1
CP95
C95
C92
CA1
CS1
Trunnion (mm)
(?T?r:% Fs:nge r:neg:r B | TDe8 [TE|TF|TH|TR|TS|TT | TV
20 |Upto200]Upto200] 38 | 83325 10 | 55| 25| 39 | 28 | 3.2 |35.8
25 |Upto300/Upto300{45.5| 10 -392%| 10 | 5.5 | 30 | 43 | 33 | 3.2 [39.8
32 |Upto300|Upto300] 54 | 12332 10 | 6.6 | 35 |54.5| 40 | 4.5 [49.4
40 |Upto500|Upto500[63.5| 14 3322 10 | 6.6 | 40 [65.5| 49 | 4.5 [58.4
50 |Upto600jUpto600| 79 | 16332 20 | 9 |50 | 80 | 60 | 6 [72.4
63 |Upto600jUpto600| 96 | 183932 20 | 11 | 60 | 98 | 74 | 8 [90.4
Front Rear
('?ﬁr:]e) TW | TX | TY | T2 z Z 7z
Without rod boot | Without rod boot | Without rod boot
20 |42 |16 | 28 |476 46 101 122
25 |42 |20 |28 |53 51 106 127
32 |48 |22 |28 |677 51 108 132
40 |56 | 30|30 |787 62 125 153
50 | 64|36 |36 |96 71 147 179
63 | 74 | 46 | 46 | 1192 71 147 184
+ Consists of pins, flat washer and hexagon socket head cap bolt.
Note) Refer to p.1.7-11 for pivot bracket.
1-7-47



Series CG100Q

With Mounting Bracket

& £z L _RR Bore |Stroke ran
C=01 TT oCD ge
K % 220 to o663 o0 o (mm) | (mm) | B [CD|CX|CZ| L |RR| V |TE|TF|TH
emalds "9 |upto200| 38 | 8 | — | 29 | 14 | 11 | — | 10 | 55 | 25
1Pl o olle5 32 JUptoom| 54 [ 12 | — 40 |20 [ 15— 10 [es o8
L @ ST : '
= y S 40 |Upto500(635| 14 | — | 49 |22 [ 18 | — | 10 | 66| 40
L E / \ 50 |Upto600| 79 | 16 | — |60 |25 |20 | — [ 20 | 9 | 50
A T T 63 |Upto6oo| 96 | 18 | — | 74 [ 30 [ 22 | — | 20 [ 11 | 60
™ e L—TLJVJ 80 |Upto750{99.5| 18 | 28 | 56 | 35 | 18 | 26 | — | 11 | 55
40TF ) oTER Zystoke l 100 |Upto750| 120 | 22 | 32 | 64 | 43 | 22 | 32 | — |13.5] 65
Bore | o+ | rv |tw | x| TV | T2 | Z | 2z |PinpartNo.
(The above shows the case port location is changed by 90 degrees.) (mm)
20 32 |358| 42 | 16 | 28 | 434 | 126 | 147 | CD-G02
25 32 (398 42 | 20 | 28 | 48 | 133 | 154 | CD-G25
32 45 | 49.4| 48 | 22 | 28 |59.4 | 139 | 163 | CD-G03
020, 063 -
= S8 500 xtemalso 40 45 (584 | 56 | 30 | 30 | 71.4| 159 | 187 | CD-G04
) ) Internal d9
T UK i 50 6 |724| 64 | 36 | 36 | 86 | 185 | 217 | CD-GO5
9 [® = N = 63 8 (904 | 74 | 46 | 46 [105.4| 190 | 227 | CD-G06
T () o —— i
T ¥
4-0TF ‘ | 1 TY
4oTF, ox 8 | 80 11 | 110 | 72 | 85 | 45 | 64 | 228 |286.5| 1Y-GO8
TX [J Z + stroke _
v ZZ + stroke
100 12 | 130 | 93 | 100 | 60 | 72 | 236 [312.5| 1Y-G10

* Clevis pins and snap rings are attached. Note) *Refer to p.1.7-11 for pivot bracket.

1-7-48

O
2



